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The following Table-I shows the sales (in ¥ crore) of Ice-cream in India during the six years from
2018 to 2023 and Table-II shows the percentage market share of various companies in the sale of
Icecream in the year 2020. Based on the data in the tables, answer the questions that follow.

Table-1 : Year-wise Sale Details of Ice-Cream (in ¥ Crore).

s Ice-Cream Sale
(in Crore)
2018 7500
2019 8200
2020 8500
2021 8000
2022 8500
2023 9500

Table-II : Company-wise Percentage Market share in the Ice-Cream Sale in 2020

Baskin

Company | Amul |Wadilal| . | Wama |Kwality | Others
: Robbins '

Percent Share| 28% | 13% 10% 6% | 35% 8%

Sub questions

Question Number : 1 Question Id : 53307218201 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the difference between the sales of Amul and Warna in 2020 ? (in ¥ crore)
(1) 1804

(2) 2380
(3) 1870
(4) 1760
Options:
1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 53307218202 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the average annual rate of increase in the Ice-Cream sale in 2023 in comparison to the year
2018 ?

() 533 %

(2) 2667 %

(3) 6.67 %

4) 10%

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 53307218203 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the percentage market share of companies remains the same in 2021 as that in 2020, then what
is the increase/decrease in the turnover of Amul from 2020 to 2021 ?

()

(2) %140 crore decrease
(3)

(4)

< 175 crore increase

% 175 crore decrease
¥ 140 crore increase

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 53307218204 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the sale of Wadilal increases by 38 % from 2020 to 2023, and the percent sale of other companies
accordingly stands reduced then what would be the market share of Wadilal in 2023 ?

1) 175%
Q) 18%

() 1694 %
() 1605 %

Options :
1.1
2.2
3.3



4.4

Question Number : 5 Question Id : 53307218205 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The market share of companies in 2023 is same as in 2020. In 2024, the ice-cream sale increases by
10 % but the market share of Amul falls to 23 %. What is the percentage change in the turnover of
Amul from 2023 to 2024 ?

(1) 964 % increase
(2) 9.64 % decrease
(3) 17.86 % increase
(4) 17.86 % decrease

Options:
1.1
2.2
3.3
4.4

Question Id : 53307218200 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 53307218201 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o 2020 § ST TR oA A farsht < s o1 SR foha1 (TFUS W) B2

(1) 1804

(2) 2380
(3) 1870
(4) 1760
Options :
1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 53307218202 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a 2018 F qoF H T4 2023 W MW W Fi Tkt # i et 9fig e €2
(1) 533 %

(2) 26.67 %
(3) 6.67 %
(4) 10 %
Options :

1.1

2.2

3.3

4.4

Question Number : 3 Question Id : 53307218203 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 53307218204 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 2020 9 2023 T AT 2 fohl H 38 % g B & IR 974 A 2 Woue fooh H g
9 &, @ ad 2003 % STl % A SR foe g

(1) 175%

2 18%
() 169 %
() 1605 %
Options :
1.1

2.2

3.3

4.4

Question Number : 5 Question Id : 53307218205 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2023t 1 AT SR 7@ & W 2020 % e 2024 % w7 o # 10 % o 9 ¥ W
ST o TR S FTORA 23 % B ST 2 1 2023 2024 T St o BRI H ol oo e o & 7
(1) 964 %3

(2) 964 % FH

(3) 1786 % g

(4) 1786 % 7

Options :

1.1

2.2

3.3
4.4
Sub-Section Number : 2

Sub-Section Id : 533072714
Question Shuffling Allowed : Yes



Question Number : 6 Question Id : 53307218206 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the steps of the cycle of self regulated learning in logical order ?
A) Setting goals
B) Regulating learning

D) Analysing the task
E) Devising plans
Choose the correct answet from the options given below :

0 E), (D) (B), (A) (©

(
(
(C) Enacting Tactics and Strategies
(
(

(2)  (B), (C), (E), (D), (A)
(3) (D) (A), E), (©) (B)
4) (A) (E), ©), (B), D)
Options

1.1

2.2

3.3

4.4

Question Number : 6 Question Id : 53307218206 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o -fafafiad SIferTy <15k o eI 1 dlfcheh ohH H ool i
(A) @& TAifa e

(B) aferm fafvafaa s

(C) fFar sir TorHifat T= #0m

(D) T7gd =/ = fagerao HE

(E) A IR AT

<= fou T faeredi § | W& S % =AA Hifod

(1) (E), (D), (B), (A), (C)

(2)  (B), (O (E), (D), (A)
(@) (D) (A), (E), (O (B)
(4) (A), (E), (Q), (B), (D)
Options :
1.1

2.2



3.3
4.4

Question Number : 7 Question Id : 53307218207 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When the content that we have previously learned interferes with the recall of something newly
learned then the interference is :

(1)  Retroactive Inhibition

(2) Proactive Inhibition

(3) Attention Inhibition

o

Response [nhibition

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 53307218207 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o TR B Vel v e o i < i v et o e fer el s € 9% S g
g

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 53307218208 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Anna sits at her kitchen table and is able to think about what she needs to buy from the grocery
stores. She is using her ability to:

(I) Recognise
(2) Recite
(3)  Recall
( A

4)  Memorize

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 53307218208 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 ST T R B S TR e U e 2 ¢ 1 30 feR e A T S A e
T & | 9 A A 7 T fwfefen & fu @ g

(1) T

(2) g
(3) A
(4) FoWF
Options:
1.1

2.2

3.3

4.4

Question Number : 9 Question Id : 53307218209 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The contents of Swayamprabha Channel-11 with the theme of “Social Sciences and Humanities’
are provided by :

(1) CEC, New Delhi
(2) IGNOU, New Delhi
(3) T, Delhi

(4) T, Madras

Options :
1.1



2.2
3.3
4.4

Question Number : 9 Question Id : 53307218209 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g1 o7 - 11 %1 5 form iR sfo ' o @ e s frwrfi gm0 soere #E S

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 53307218210 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a biology class, a teacher wants to conduct a formative assessment to gauge students
understanding of cell structure and function. Which of the following tools would be most effective
for creating interactive quizzes with immediate feedback ?

(A) Google forms

(B) Adobe [llustrator

(C) Kahoot

(D) Audacity

(E) Camtasia

Choose the correct answer from the options given below :
() (B), (C) and (E) Only

(2) (A), (©), (D) and (E) Only
(3) (A)and (C) Only

(4) (B), (D) and (E) Only
Options :

1.1

2.2



3.3
4.4

Question Number : 10 Question Id : 53307218210 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W9 faqm 1 T 1 W S, FE S W R g 5 6 A 6 6
fere Fmfomeees v 1 &1 e Wioge (reas:) Gfed Wom Harearet FHmfe & S 7 &
feu ffefian SH-11 SvE Fo® g9 2

(A) Tl

(B) T TR

) #E

(D) el (efae)

(E) Wl

e feu o ot W @ W@ I A T e
(1) %A (B), (C) R (E)
(2) 9 (A), (C), (D) 4R (E)
(3) A (A) IR (C)

(4) (B, (D) 3 (B
Options :

1.1

2.2

3.3

4.4

Question Number : 11 Question Id : 53307218211 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following represents the epistemological orientation of qualitative research ?
(1) Deductivism

(2) Positivism

(3)  Objectivism

(4) Interpretivism

Options :
1.1
2.2



3.3
4.4

Question Number : 11 Question Id : 53307218211 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefa & § SF ToTeTE e & FEEEERE Afifem e w g2

(1) e

(2) HHHAS

(3) famafear
(4) SAEAER

Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 53307218212 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In many studies that span along period of time, participants in the study may leave. This constitutes
which of the following threats to internal validity ?

(I) Testing

(2) Instrumentation
(3) Mortality

(4) Maturation
Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 53307218212 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T o aer o W wee ol 3R R oo o wevrh ol W § 1 %R ol v ¥ ot
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Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 53307218213 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct order of the following nformation about a research article, according to the

APA style of writing journal article references.

(A) Volume number

(B) Year of publication

(C) DOL

(D) Title of article

(E) Name of journal

Choose the correct answer from the options given below :

M) (©) (D) (B) (A) (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 53307218213 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



i o fere 1 T e % SR, 9 o & R H ffafed SRR % T8 6 wEE
(A) HEHEA

(B) TV A

(C) & o

(D) @ 1 wivF

(E) e & AW

A fou U ferhedl o | W 3 A T
() (©), (D), (B), (A), (E

) (®) (D) (E) (A) (©
() D) (E) (), (B) (©
(4) D) (&) (), (A), (B)
Options :

1.1

2.2

3.3
4.4

Question Number : 14 Question Id : 53307218214 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the continuous variables.
(A) Number of tails obtained in hundred tosses of a coin

(B) Weight of students in a school

(C) Marks scored by students in an objective type examination
(D) Height of plants in an agricultural field

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (C) and (D) Only
(3) (A)and (C) Only
(4) (B) and (D) Only
Options:

1.1

2.2

3.3

4.4



Question Number : 14 Question Id : 53307218214 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qad =7 1 JedH S

(A) Tordl TR 1 T 91 R 380! SH 9 9T 92 hl SE&AT
(B) Tordt fagarem # fagafdi &1 o=

(C) =M YR =i THian | fagafedi & i
(D) WdraEt ot ot B o dtel o S

= feu v fasedi § 9 We ST 1 =999 Fife
(1) <9 (A) 3R (B)

(2) %= (C) ¥R (D)

(3) FE (A) IR ()

(4) 9 (B) 3R (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 15 Question Id : 53307218215 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[denlify the non-parametric tests used in statistical arlal}rsis.
(A) Chi-square test

(B) U-test
(C) H-test
(D) t-test

Choose the correct answer from the options given below :
(I) (A) and (B) Only
(2) (B) and (C) Only
(3) (©) and (D) Only
)

(4) (A) and (D) Only
Options :

1.1

2.2

3.3



4.4

Question Number : 15 Question Id : 53307218215 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gifersa faverao § ygaa sTam=rel 9iervi 1 qe=H Fifer ;
(A) HE - A GHE

(B) ¥ - &
(C) TH - e
(D) & - Tdiem

= feu U fawed °§ 9 WEr 3 =9 FH I
(1) ad (A) 3R (B)

(2) haa (B) R (C)
(3) A (C) 3R (D)
(4) FaA (A) 3R (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 16 Question Id : 53307218216 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A cartoon is of :

(1) High definition
(2) Low definition
(3) Neutral definition

(4) Negative definition

Options:
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 53307218216 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T Bl €

(1) = gl I

) T e

(3) HEAH Tl

) FTRUCHE Tl

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 53307218217 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The period of time when a communication network becomes inoperative, is referred to as :
(1)  Time fit

2
3
4

(2) Uptime
(3) Downtime
(4) Loadtime
Options:
1.1

2.2

3.3

4.4

Question Number : 17 Question Id : 53307218217 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

grarafy foad §9r Jeas faferg 8 5 & 59 9efia 9 © -

(1) =rEm e
(2) 9 <I=H
(3) SIS drgH
(4) S A

Options:

1.1

2.2

3.3



4.4

Question Number : 18 Question Id : 53307218218 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following concepts are related to mass communication ?
(A) Global village

(B) Medium is the message

(C) The extension of man

(D) Pop culture prophet

Choose the correct answer from the options given below :
(1) (A), (D) Only

() (A), (B) and () Only

(3 (B), (C) and (D) Only

(4) (A)and (B) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 18 Question Id : 53307218218 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafga § § @9 9 deegd 5@ 99r 9 defum €2
(A) dIfvees am
(B) AW WM
(C) WHA faEr
19 HEFfd A el
A= feu 7o foepedl o 9 W& I = = S
(1) < (A), (D)

(2) %9 (A), (B) TR (C)
(3) %9 (B), (C) ¥R (D)
(4) FAA (A) SR (B)
Options :

1.1



2.2
3.3
4.4

Question Number : 19 Question Id : 53307218219 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As a mode of communication, drama has four forms from the western perspective. They are :
(A) Tragedy

(B) Comedy

(C) Serious drama
(D) Melodrama

(E) Character drama

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D) Only

(2)  (B), (C), (E) Only
(3) (A)(C), (D), () Only
(4)  (A), (B), (D), (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 19 Question Id : 53307218219 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR goretl % &9 H, ufyeed g  eE FER R g9 €
(A) Sl

(B) WeEA

(C) TR Ae®

(D) =fd e

(E) =Rk Ak

i< feu T fashedi H | Wa 3L 1 TG HifeU
(1) = (A), (B), (O), (D)

(2) = (B), (O), (E)

(3) @ (A), (O), (D), (B)

(4) = (A), (B), (D), (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 20 Question Id : 53307218220 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[denlify the correct ch_rnnnlngica] sequence of the fn]lnwing 3
(A) Launch of Twitter

(B) Launch of Facebook

(C) Appearance of social network sites
(D) Launch of Spuinik

(E) “War of the worlds’ broadcast

Choose the correct answer from the Dptinns given below :

(L) (A) (©), (B), (E), (D)

2 (B), (D), (C), (B), (A)
(3)  (B), (B), (D), (A), (C)
4) (©), (B), (A), (D), (E)
Options :

1.1

2.2

3.3



4.4

Question Number : 20 Question Id : 53307218220 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafea =1 9t FeArshHe el i o Y
(A) T2oeX &1 Ry

(B) THHEH H HRH
(C) IfSre =Zerk g2y =1 SAffavie
(D) TIATTF SR

i

(E) '9R 1% &1 doed’ dieHe

e feu U faspedl O ¥ W& 39 F 9949 Hifo
(1) (A) (©), (B), (E), (D)

@ (E), (D) (©), (B), (A)

(3) (B), (E). (D), (A), (C)

4) (©), (B), (A), (D), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 53307218221 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Three successive discounts of 15 %, 20 % and 40 % on the marked price of an item are equivalent
to a single discount of :

) 5%

) 408 %
) 592 %
) 675 %



Question Number : 21 Question Id : 53307218221 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fereil o o Sifohd Ted T AR FHIE T2 15 %, 20 % T 40 % o FHHH Thet 922 7
1) 7%

() 408 %
(3) 59.2 %
(4) 67.5%
Options :
1.1

2.2

3.3

4.4

Question Number : 22 Question Id : 53307218222 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

15 men working 8 hours per day complete a piece of work in 18 days. To complete the same work
in 6 days, working 12 hours a day, the number of men required will be :
) 24 men
) 26 men
3) 28 men
) 30 men
Options :
1.1
2.2

3.3
4.4

Question Number : 22 Question Id : 53307218222 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

15 ST fafeet 8 e % ek 18 ol & 0 W 0 0 1 3H AW A 6 fe § e F fow yfeen
12 %21 %W T, ot SR 1 vl g ?

(1) 24 il 3

(2) 26 SRfl A

(3) 28 Sl &l

(4) 30 smwh Al

Options :



1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 53307218223 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the next term in the series.....
275, 7Y7, 14X9, 23W11, 34V13, (?7)

(1) 27024
(2) 45U15
(3) 47U15
(4) 47U14
Options :
1.1

2.2

3.3

4.4

Question Number : 23 Question Id : 53307218223 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

71 sj@ren # 3Ter 9 3 e
275, 7Y7, 14X9, 23W11, 34V13, (?)
(1) 27024
(2) 45U15
(3) 47U15
(4) 47014
Options :
1.1

2.2

3.3

4.4

Question Number : 24 Question Id : 53307218224 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain coding language, if the word "TREND’ is coded as ‘QUBQA’, then the word ‘STRAY’
will be coded as.

() PVPDV

(2) PWPDW

(3) PWODV

(4) QWPEW

=y

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 53307218224 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T fAf¥an Fecia 9§ 92 ‘TREND’ #1'QUBQA’ 8 Ffed o 911 &, 7@ T2 STRAY' 1 2
caf

(1) PVPDV

() PWPDW
(3 PWODV
(4 QWPEW
Options:
1.1

2.2

3.3

4.4

Question Number : 25 Question Id : 53307218225 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A person travels from X to Y at a speed of 30 km/hr and returns from Y to X by increasing his
speed by 50%. His average speed during the journey is :

(1) 375 km/hr

(2) 37 km/hr

(3) 36 km/hr

(4) 38 km/hr

Options :
1.1
2.2



3.3
4.4

Question Number : 25 Question Id : 53307218225 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T e 30 fope,/sien 1 fa B X Y 9 A T € R 50% At v F Y W X 7 g o |
1 o SR Sh Sir Il P e 2

(1) 375 ot o
(2) 37 ol /d
(3) 36 foll. /4
(4) 36 foll. /4
Options :
1.1

2.2

3.3
4.4

Question Number : 26 Question Id : 53307218226 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[dentify the fallacy committed in the statement given below :

“People who lack arrogance are intelligent because intelligent people do not have arrogance”
(1) Equivocation

(2) Fallacy of division
(3
(

)
) Begging the question
g

Fa]la.c;yF of composilion

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 53307218226 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



friferfaa o § aehe & TeEE
o T H SR T B, o SfgHE I © TR SfHA el W SRR el el |
1) SR

(

(2) farEdm
(3) e 3y
(4) Hefadm
Options :

1.1

2.2

3.3

4.4

Question Number : 27 Question Id : 53307218227 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following propositions is contrary to the proposition. “All cows are herbivores” ?

(1) All herbivores are cows.

3
4)  No cows are herbivores.

2)  Some cows are herbivores.
) Some cows are not herbivores.

(
(
(

Options:
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 53307218227 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freforfea # | S ot giaafa fF et 7 wermert St €' = s €2
1) |t IR T €

2) Tl T ST B € |

3) T M IEER T B ¢ |

4) I TT YRR T A )

Options :
1.1

(
(
(
(



2.2
3.3
4.4

Question Number : 28 Question Id : 53307218228 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent ?
(A) All cows are herbivores.

(B) All herbivores are cows.

(C) Some herbivores are cows.

(D) No cows are non-herbivores.

Choose the correct answer from the options given below :
(I) (A) and (B) Only

(2) (B) and (D) Only

(3) (B) and (Q) Only
4) (A) and (D) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 28 Question Id : 53307218228 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafad & & -8 Hu difdhes gfte & THqe §2
(A)  [off T wITeRTRTY e € |

(B) Wl MRS T4 =ld 2 |

(C) o IMFTERT T B 2 |

(D) T2 A TR eRE e ol ¢ |

=1 feu 1o faskedi § ¥ W I & =99 Hifad
(1) <9 (A) 3R (B)

(2) I (B) $R (D)

(3) = (B) 3R (Q)

(4) A (A) #R (D)



Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 53307218229 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following propositions cannot both be false, though they can both be true ?
(A) All cows are herbivores,

(B) No cows are herbivores.

(C) Some cows are herbivores.

(D) Some cows are not herbivores.

Choose the correct answer from the options given below :

(1) (A)and (D) Only

@ (0 and (D) Only
(3) (B) and (C) Only
@

4) (A)and (C) Only
Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 53307218229 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(A) T T IR B

) I T VTR T B &
C) @@wﬁwrﬂa‘m%
(D) ¥ T TR Tl el ¢
%ﬁqwﬁwﬂﬂﬁqﬁrwwwﬁm:
(1) A) 3 (D)
( ) SR (D
(3) ) ¥ (C
(4) A) 3 (C)

% &% 9 g

(=]

(
{
(
(4)

EREI

1

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307218230 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to dlassical Indian Philosophy the source of knowledge based on cognition of an object,
similar to another one which is already known to the cognizer is known as :

(1) Sabda

(2) Pratyaksa
(3) Anumina
(

4)  Upamana

Options:
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307218230 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307218231 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following electronic technologies is the key technology for making the fourth generation
electronic computer ?

(1) Transistor based

(2) Integrated Circuit (IC) based

(3)  Vacuum Tube based

(4)  Microprocessor based

Options:
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307218231 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 5 8 3 ) geraiien e aqd el % SemRen He TN o TE W ¢ 7
WEEERE R

Options :
1.1



2.2
3.3
4.4

Question Number : 32 Question Id : 53307218232 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Many websites require the following to be completed :

Ll 'm not a robot.

This is an example of which data issue ?
(1) Accuracy

(2) Matching

(3) Quality

(4) Security

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 53307218232 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3k derdErsel W = @ gu fee S o sevgedl B ©

Ll I'm not a robot.

I8 <21 HeHl %A H 78 1 I3 & 2

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 53307218233 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[dentify the sequence of words A-E that correctly fills the blanks in the following paragraph :

is small amount of memory located on the CPU itself.
_____ is a form of ROM that is commonly used in embedded devices such as washing
machines, smart phones, etc. 15 mainly used in a PC to store the tiny OS called the
BIOS. is a storage allocation scheme in which secondary memory can be addressed as
though it were part of the main memory. is a type of very fast memory that is used to
temporarily hold data about currently running programs.
(A) ROM
(B) RAM
(C
(D
(E)  Virtual memory
Choose the correct answer from the options given below :
(1) @) © (4) E) B
2) (© (D) (A), () (B)
3) (©, (D) (B), (E), (A)
4) () (D) (4), ), (E)

) Cache memory
)

Flash memory

{
(
(

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 53307218233 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1

2.2

3.3

4.4

Question Number : 34 Question Id : 53307218234 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If (L)y; represents a number L in base-M number system, then which of the following numbers are
equivalent to (19),, ?

(A) (11001),

(B) (201)5

(€ (121),

(D) (1015

E) D)y

Choose the correct answer from the options given below :
(1) (A), (C) and (E) Only
(2) (B) and (D) Only

() (A) () and (D) Only
() (A),(B) (C), (D) and (E)
Options :

1.1

2.2

3.3
4.4

Question Number : 34 Question Id : 53307218234 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AfesTem-M el vt # (L), § LA <o & 9 1 § | 91 5 e (19),, % T §7
(A) (11001),

(B) (201),

(C) (121),

(D) (101,

E) (B)

el feu o fomredi & 9@ W SR A T FHC
1) (A), (C) IR (B)

) % (B) R (D)

3) % (A), B) (D)

4 (A),(B) () D) I E

—— e g—

Options :
1.1
2.2
3.3



4.4

Question Number : 35 Question Id : 53307218235 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - 11
(Computer Terms) (Purpose)
(A) Motherboard (I Stores the date, time and system configuration for BIOS
(B) BIOS (I)  Allows processor and other hardware to function and
communicate with each other
(€) CMOS (IT) Transfer the contents of web pages into a web browser for
viewing
(D) HITP (IV) Initializes and tests the system hardware components and

loads an OS5 when a computer is turned on
Choose the correct answer from the options given below :
() (A, B, (CHIV), (HIL)
2)  (A){I), (B}IV), (CH), (DHI)
3) (A}, (B)-(V), (C)-(1), (D(II)
) (A

) (V) (BHI, CHID, (1)

@ |
@
@
Options :
1.1
2.2
3.3

4.4

Question Number : 35 Question Id : 53307218235 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) (A, B)-(), (OHIV), (D)

(@) (A, (B)-{V), (CHD), D))

() (AHI, B)-(IV), (C)-{D), (D)

(4)  (AHIV), (B)-(IL), (CHI, (D)-()

Options :

1.1

2.2

3.3

4.4

Question Number : 36 Question Id : 53307218236 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Kyoto protocol, how much target was fixed for the reduction of concentration of Green House
Gases (GHGs) below 1990 level, during first commitment period 2008-12 by state parties ?

(1) 10°%
Q) 52%
() 104 %
) 200°%

Options:
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 53307218236 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

e ovTcr %0 e g e et e et 2008-12 % SR 9 e i (GHGs) % e &
1990 %R § &9 11 1 oy @ fwifa fovn o2
() 10%

2 52%

(3) 104 %

(&) 200 %

Options :

1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 53307218237 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are biogas ?

(A) Marsh Gas

(B) Swamp Gas

(C) Producer Gas

(D) Compost Gas

(E) Flue Gas

Choose the correct answer from the options given below :

(1) (A), (B) and (D) Only

(2) (B), (€) and (E) Only
(3)  (A), (C) and (E) Only
(4) (©), (D) and (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 53307218237 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefafaa & & # awEg 2
(A) HE "

(B) @ ig

(C) W TE

(D) HIE TH

(E) W™

= feu U foeredi § 9 Wer SO &1 =949 Hi
(1) de (A), (B) &R (D)
(2) e (B), (C) IR (E)
(3) FaA (A), (C) R (E)
(4) %= (C), (D) ¥R (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 53307218238 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is considered to be the finest particulate matter ?
(I) Fine mode particles

(2) Neucleation mode particles

(3) Aitken mode particles

(4)  Accumulation mode particles

Options:
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 53307218238 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frfafeas § 4 fora w1 gaman HforeR ge1ed wH1 ST € 7
(1) A (gaH) Hie afésay

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 53307218239 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the fullnw'mg 15 an Example of natural climate fnrcing ?
(1) Green House Gases

(2) Volcanic erruptions
(3) Land use changes

(4) Tropospheric aerosols
Options:

1.1

2.2

3.3

4.4

Question Number : 39 Question Id : 53307218239 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafaa § @ 219 T WFfas a9 9617 F1 UF e © 2
(1) ¥UH &9 TH
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(3)  uff 37ErT afEdd
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Options :
1.1
2.2
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4.4

Question Number : 40 Question Id : 53307218240 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about Pyrolysis ?

(A) It produces less air pollution than complete incineration.

(B) It is done in the presence of oxygen.

(C) Instead of oxidation a complex series of decomposition and other chemical reactions take
place.

(D) Pyrolysis many times generates useful materials.

(E)  Pyrolysis is a high temperature thermal process, an alternative to incineration,

Choose the correct answer from the options given below :

() (4)(B)(C)and (D) Only

) (A) (0) () and (E) Orly

() (B), (C), () and (E) Only

(4) (A), (B) and (E) Only

Options :

1.1

2.2

3.3

4.4

Question Number : 40 Question Id : 53307218240 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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13 fow T forrel 9 R R 9 T
(1) 9 (A), (B), (C) R (D)

() % () (C), (D) ¥R (B

(3) % (), (C) (D) ()

(4) 9 (A), (B) M (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 41 Question Id : 53307218241 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The first foreign university to set up its campus at GIFT City, Gujarat, is :
(1) London University, Britain

(2) Queen’s University, Ireland

(3) Deak in University, Australia

(4) Moscow University, Russia

Options:
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 53307218241 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



St o WE 2 5 (GIFT City), o ¥ o1 W, <o e ren ween focet fervafermera @ ¢
(1) e fovafaaed (FFameer), fae

(2) F forfemme, faed
(3) i foveifommer, smefem
(4) Wi fovfommerd, 9
Options :

1.1

2.2

3.3

4.4

Question Number : 42 Question Id : 53307218242 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The National Education Policy 2020 recommended moving towards.
(1) Suburban Universities

(2) Single discipline Universities

(3) Multi-disciplinary Universities

(4) Specialised Universities

Options:

1.1

2.2

3.3
4.4

Question Number : 42 Question Id : 53307218242 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T foen Aifa, 2020 # fFAefafea = fom o o ae7 =1 fowf #31w oF
(1) IFRE foyafaemTa

(2) UeFe-foug oot favafaered
(3) wg-foudt favafaemaa
(4) oo favafemmera
Options :
1.1
2.2

3.3



4.4

Question Number : 43 Question Id : 53307218243 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the public sector universities from the following that have the highest number of
collaboration with foreign universities.

(A) Indian Institute of Technology, Kanpur

(B) Indian Institute of Science, Bengaluru

(C) Pondicherry University, Pondicherry

(D) North-Eastern Hill University, Shillong

(E) Gujarat Vidyapeeth, Gujarat

Choose the correct answer from the options given below :
() () (8)(0 Oy

@ (B)(C) (D) Only
() (©) (D) (E) Only
(#) () (D) (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 43 Question Id : 53307218243 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) A (A), (B) (C)
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Options :

1.1

2.2

3.3

4.4

Question Number : 44 Question Id : 53307218244 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following come under the category of stand-alone professional universities ?
) Universities of Journalism
B) Law Universities
) Health Science Universities
) Technical Universities
) Homeopathy Universities

(A
(B)
(€
(D
E

Choose the correct answer from the options given below :
() (A); (B), (C) Only

() (A), (B), (D) Only

(3) (C),- (D), (E) Only

(4) (), (C), (D) Only

Options :

1.1
2.2



3.3
4.4

Question Number : 44 Question Id : 53307218244 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1

2.2

3.3
4.4

Question Number : 45 Question Id : 53307218245 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List - 1
(Commission/Committee)

) University Education Commission (1948-49)
Sanskrit Commission

(A
(B)
(C) Education Commission (1964-66)
D)

(1954)

Committee on Higher Education for Rural Areas

List - II
(Chairperson)

() D.S. Kothari

(I) K. L. Shirmali

(L) S. Radhakrishna

(IV) Suniti Kumar Chatterji

Choose the correct answer from the Dptiuns given below :

(1) (A0, (BH), (C)-(ID), (D)-IV)
(2) (A, B)-(), (©)-IV), (D)-0)
() (A)-(I), BIIV), (CHD), (DHI)
(@) AHLV), (BHD), (C-(I), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 53307218245 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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(D) (AHD, B)-(), (©)-(IL), (D)-(V)

(2)  (AHI), B)-UD, ©-1V), (D)-0)
(3)  (A)-(I), (B)LV), (C)-(I), (D)-(I)
4 (AHIV), B)-(D), (C(I), (DHII)
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1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 533072715
Question Shuffling Allowed : No

Question Id : 53307218246 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage and answer the questions given below :

Santiniketan attempted to produce a culture, which was Bengali/Indian in its construction and
approach yet significant to the modern world. In 1912, Rabindranath established an institution called
Ashram-Sammilani. It was a body of elected students with teachers in-charge to look after the functioning
of the school. Students” Unions are primarily concerned with student interest; they-or any other union,
for that matter-are formed to protect their rights against the authority’s misuse of power, There was a
court run by the elected student body. Whenever there was a complaint of any serious offence, the court
had its session with the accused in some quiet place after dinner. The Sammilani met twice a month-
once on new-moon nights, the other on full-moon nights. During Rabindranath’s long stay at Silaidaha
among the villagers he realised that only sel[—suﬂiciency, self-rule and self-respect could free our rural
population from their weakness, poverty and sense of inferiority; that it was society that should rule, not
the state imported from Europe, Srinikefan-Visva-Bharati's rural development,/ reconstruction programme
started in 1922, Rabindranath applied the principles of the co-operative movement to Sriniketan; and as
we know he applied it everywhere-equal respect for everybody, equal participation, equal distribution
of material and spiritual wealth,

Sub questions

Question Number : 46 Question Id : 53307218247 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Main aim of Santiniketan can be stated as :

(1) To spread the culture of Kolkata

(2) To completely ignore the western influences

(3) To emphasize on a culture that was Bengali/Indian yet significant to the modern world
(4)  To focus only on the traditional folk culture

Options :
1.1
2.2
3.3



4.4

Question Number : 47 Question Id : 53307218248 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Aim of Ashram-Sammilani was :

(I)  To function as a typical student union

(2) To talk about the student’s rights

(3) To look after the functioning of the school with a body of elected students and teachers
in-charge

(4)  To manage the financial situation of the institution

Options:
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 53307218249 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How often did the Ashram-Sammilani meet ?
(1) Once a year

(2) Twice a month
(3) Weekly

(4) Monthly
Options :

1.1

2.2

3.3

4.4

Question Number : 49 Question Id : 53307218250 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What did Rabindranath Tagore realize while he stayed in Silaidaha ?
(1) Only education can uplift the society.

2)  Society should rule, not the state imported from Europe.

3

4) Traditional model of governance is the best approach.

) Industrialization is the major key to prosperity.

(
(
(

Options :
1.1



2.2
3.3
4.4

Question Number : 50 Question Id : 53307218251 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What principles did Rabindranath Tagore apply to Sriniketan’s rural development program ?
(1) Centralized governance

(2) Industrial growth

(3)  Equal respect, participation and distribution of wealth

(4)  Personal growth over community welfare

Options :
1.1
2.2
3.3
4.4

Question Id : 53307218246 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 53307218247 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Wi 1 @A i el 1 Wehell ¢ -

(1) hiceRT i GHTd  ToR F

) UEI TET B W SRR

3) U U Gl W AE o @ e e 2 R o snefe fava & fo wewee &
) WY @ ST WA S H B

Options :

1.1

2.2

3.3
4.4

Question Number : 47 Question Id : 53307218248 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
S9W - W 1 3299 o017
) Wl BEEE & B H FE
2) B % AR F 9 H a6 FA
) Traifea BB SR 99 el o e & @y faemed & 1 # a5
4) oE # o fegfa o1 yeeA W

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 53307218249 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

sgw AfFET F S3E a9 g o ?
(1) =4 H TH IR

(2) TEH TR

(3) wrfesh

(4) \If9EH

Options :
1.1



2.2
3.3
4.4

Question Number : 49 Question Id : 53307218250 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

facTrrge W 109 Werd & SR TeiEe | = weqd o ?
(1) foen | & gurst &1 Zeu 8 9 ¢

(2) HEN 1 ATEA S =1feq 7 foF 79 § aymEiad I |
3) ieifertmta ggfs #t 7@ e

(4) ITEA 1 WO Hiee IS IINTH 2|

—

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 53307218251 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e SR A ke % e foerg s | o fagial @ s fem o2

)
3)  HHM S, WRiER! SR O 1 fem
) HIHEIaE FHeA o WA W T ferer

Options:
1.1
2.2
3.3
4.4

Russian
Section Id : 533072240
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory



Number of Questions : 92

Number of Questions to be attempted : 92

Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 533072716
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 53307218252 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETBTE CENVIOMIHE HANPABNEHHS/ TEUEHHS B XPOHONOTHUECKOIT HATPABIEHHOCTH.
A, MakuHHIM

B.  Jlepeenckas mposa

C.  Toponckas nposa

D.  ColHamHCTHUECKHH pEaTH3M

Choose the correct answer from the options given below:

.  ADBE
% B,D,A,C
3 C,B,A,D
4. B,A,C,D

Options :

1.1

2.2

3.3

4.4

Question Number : 51 Question Id : 53307218252 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETBTE CIIETVIONIHE HATIPABJIEHHA/ TEUEHHS B XPOHOTOTHUECKOI HATIPABIIEHHOCTH.
A, Hvaxuausm

B.  lepereHckad nposa

C.  T'opopckad mposa

D.  CouuamucTHUECKHI peatu3m

Choose the correct answer from the options given below:

L A D,B,C
% B,D,A,C
3 C,B,A,D
4 B,A,C,D



Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 53307218253 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kakas HEPTa HE IOAXOAHT K HAIIPaBJICHHIO «JICPEBCHCKAA Hpﬂgﬂ}}?

Tema COOTHOIIEHHA YENTOBEKA H HIPHPOJEI

)
2, Tema murparuu
3. Tema pa3priea ropofia u JepeRHH
4. JOKYMEHTAIEHOCTE H HCTOPH3M
Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 53307218253 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kakas HEPTa HE IOAXOAHT K HAIIPaBJICHHIO «ICPEBCHCKAA HpD?H}}?

Tema COOTHOIIEHHA YEIOBEKA H HPHPOAEI

)
2, Tema murparuu
3. Tema paspriBa ropofia H IepeBHH
4. JOKYMEHTATBHOCTh H HCTOPH3M
Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 53307218254 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



*310 CTECTBEHHA, TPABIUBAA KOMA, KOTOpas CTPEMHIIACh H300paKaTh Ku3Hb O3 MPUKPaC’.
() KaKoM HaTIPABIEHHH HIET PEUb?

| CeHTHMEHTATIBM

2. Armemm

3. Harypanshad mxona

4. CoUHaTHCTHYECKHIT pean3M
Options :

1.1

2.2

3.3

4.4

Question Number : 53 Question Id : 53307218254 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

*3T0 €CTECTBEHHAA, PABHBAT LIKOMA, KOTOpAs CTPEMHIAC H300paKaTh AH3Hb O€3 MPHKPAC'.
O KaxoM HATIPaBIEHHH HIET PeYb?

[, CeEHTHMEHTATI3M

2. AKvemm

3. Harypanshad mxona

4, COUHATHCTHYECKHIT peaH3M
Options:

1.1

2.2

3.3

4.4

Question Number : 54 Question Id : 53307218255 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BCTaBbTE BMECTO TOUEK HpﬁBHHBHBIﬁ OTBET.

«AKMEH3M) [IPOHCXOIUT OT IPEUCCKOTO CJIOBaA ‘acme’, KOTOpOC O3Ha4acT ...... :

I BBICIIYIO CTEMEHD YETO-TIHOO
2, MHCTHKY
3. CUACThHE
4. pasoyapoBaHUE
Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 53307218255 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BCTaBETE BMECTO TOUEK Hp?lBH.HBHbIﬁ OTBET.

«AKMEH3M) [IPOHCXOIHT OT IPEUECKOTO CJIOBA ‘acme’, KOTOpPOC O3Ha4acT ...... ;

2 BBICIIYIO CTEMEH YET0-THO0
2. MHCTHKY
3 CYACTBE
4. pa3ouapoBaHme
Options:
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 53307218256 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



«Kax-To TaK TIOJIYHHIIOCK, HTO U3 IEPEBHH HoBoii, X0Tb 0Ha HEG0/IbIIAA, MHOTO BBIILIO 3HATHBIX

TIKOIEI; OJJHH TIOMKOBHUIK, J1Ba IETUHKA, BDAd KOPPECTIOHIEHT. .. 1 BOT Temeph K ypapnes —
KaHTHAT »

3 KaKoro XyJoA€eCTBEHHOT0 TEKCTA JAHHBIi OTPBIBOK?

. «Cpesam

2 «benbli mapoxom
3. «Cynb0a uenoBexa)
4, «AHTOHOBCKHE A07OKID)
Options:

1.1

2.2

3.3

4.4

Question Number : 55 Question Id : 53307218256 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

«KaK-10 TaK TIOJIYHHIIOCH, HTO U3 ICPCBHA HoBoii, X0Tb 0Ha HeO0.IbIIAA, MHOTO BBIILIO SHATHBIX

TH7eit: OfIHH MOTIKOBHUK, ]Ba NETUHKA, BPaY KOPPECTIOKTEHT. .. HBOT Teneph Kyparnes -
KaHJTHaT )

13 Kaxoro XyJoKECTBEHHOT0 TEKCTA IAHHBLI OTPBIBOK?

. «Cpesam

2. «bembli mapoxom
3. «Cynp0a venoBexan
4. «AHTOHOBCKHE AOMOKID)
Options :

1.1

2.2

3.3

4.4

Question Number : 56 Question Id : 53307218257 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Kakoii 13 [aHHLIX 00pa30B HE ABJIAETCA POMAHTHUECKHM repoem?

I Jlappa
2, Manko
3 AJeKo
4. Ilenares
Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 53307218257 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kakoi U3 JaHHBIX 00pa30B He ABJIAETCA POMAHTHUECKHM repoeM?

I Jlappa
2, JTaHKO
3 AJexo
4. Ilenares
Options:
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 53307218258 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kakyio rpynmny co3gani GbIBIIHE () yTYPHCTBI IIOCIE PEBOTIOIHH?

L. JIED

2, PATIII

3. Ky3nuia

4. Ilepeean
Options :

1.1
2.2



3.3
4.4

Question Number : 57 Question Id : 53307218258 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kaxyto rpynimy co3fanu GbIBIIHE (yYTYPHCTBI [TOCIIE PEROITIOLIH?

l. JIED
2, PATIII
3. Ky3Hura
4. Ilepeman
Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 53307218259 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Brigato myuMca naMATHHKOM THTepaTyphl XII B. ABRIAETCA:

«CJ0B0 0 3aKoHe H biarogatuy»

L.
2, «C1oBo o noJky HMropeeey»
3. «OcTpoMHpOBO EBaHrenue»
4. «Pycckas ITpaBia»

Options :

1.1

2.2

3.3

4.4

Question Number : 58 Question Id : 53307218259 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Briato muMca naMATHHKOM THTepaTyphl XII B. ABIAETCA:

«CJ0B0 0 3aKoHe H biarogatuy»

L.
2, «C1oBo o noJky HMropeeey»
3. «OcTpoMHpOBO EBaHrenue»
4. «Pycckas ITpaBia»

Options :

1.1

2.2

3.3

4.4

Question Number : 59 Question Id : 53307218260 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Briaronipiica qpeBHEP YCCKHH HKOHOMHCEL] —

) Cadonuii Psi3anery
2. AHppeii Pyonée
3. Adanacuit HUKUTHH
4. Enundanuii IIpemynpsiit
Options:
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 53307218260 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Briaronipiica qpeBHEP YCCKHA HKOHOMHCEL —

L. Cadonuii Psi3anery

2. AHppeii Pyonér

3. Adanacuit HUKUTHH

4, Enudanuii IIpenvynpsiit

Options :
1.1



2.2
3.3
4.4

Question Number : 60 Question Id : 53307218261 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kakoe 3 CIICAVIO HX HpOH’SBEI[EHHfI OTHOCHTCA K HallpaBJICHHIO (CEHTHMEHTATH3M)?

I «Tunensy
2 «EBreHuit OHErHHy»
3. «BockpeceHbey
4 «benHag JIuzay
Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 53307218261 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kakoe u3 CIEAVIO IHX HpOH’SBEI[eHHfI OTHOCHTCA K HallpaBJICHHIO (CEHTHMEHTATH3M)?

I «TuHenpy
2 «EBrennii OHerHm»
3. «BockpeceHbe»
4 «bennag Juzay
Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 53307218262 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BcTaReTe BMECTO TOUEK [IPABHILHEII OTBET:
...... SMHTPHpOBa U3 Poccuu B nepBoii monoBuHe 1920-X IT.

l. M. 3omeHKO
2 @. JIOCTOEBCKHIA
5 H. bynun
4. A. biok
Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 53307218262 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BcTaBbETE BMECTO TOUEK IPAB HIBHBIH OTBET:
...... SMHrpHpoBan U3 Poccuu B neppoii nojioBuHe 1920-X IT.

L. M. 3011EHKO
2z @. JIOCTOEBCKHII
5 1. byHuH
4. A. biok
Options:
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 53307218263 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BCTaRbTE BMECTO TOUEK HIJHBHHLHLIFI OTBET.

Margua ...... OT rapaa H 0CTAHOBHJIAChH OKOJIO BBIXO[A.
k. npuexana

2. OThEXAala

3. oexana

4. MoaLEXana



Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 53307218263 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BcTaBbTE BMECTO TOUEK MPAB HIbHBIH OTBET:
MarmuHa ...... OT rapaka H OCTaHOBHJIACH OKOJIO BBIXO/[A.

| £ [pHexana
2. OThEXANa
3. Joexana
4, nojanLexana
Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 53307218264 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kaxoi U3 clIeyronux mo3ToB MUCA 10 JKaHPY aBTOPCKOMH MecHH?

) B. bprocor
2, b. Okymxara
3. H. I'yminés
4. A. brok
Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 53307218264 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Kakoi U3 cIeqyionux mo3ToBR MUCA 10 JKaHPY aBTOPCKOMH MeCHH?

) B. bprocor
2, b. Okymxara
3. H. I'yminés
4. A. brok
Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 53307218265 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

C KeM ITOJIeHICA CBOE rope repoi B KOHLE pacckasa YexoBa «Tockan?

Co ceoeil Ko30H

l.
2. Co cBoeH KOpOBOH
3. Co cBo€i JIoIaIbio
4. Co cBoeil cobakoi
Options:
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 53307218265 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

C KeM IOJIENHICA CBOE rope repoi B KOHIIE pacckasa YexoBa «Tockan?

Co croell K030H

l.

2. Co cBoel KOpoBOH

3. Co ceoeil JTommajso

4. Co cBoeil codakoi
Options :

1.1
2.2



3.3
4.4

Question Number : 65 Question Id : 53307218266 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

K Bo3BpaiéHHOI THTEPATYPE HE BKJIKOUAETCA:

L. Jlutrepatypa cepeOpsSHOro Bexa
2 3afepiKaHHas JUTEpaTypa
3. JIuTepaTypa COLHATHCTHIECKOTO peanniMa

4. JlutepaTtypa pyccKoro 3apyoekKns

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 53307218266 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

K Bo3BpaIéHHOIl THTEPATYPE HE BKJIKOUAETCA:

L. Jlurepatypa cepeOpsAHOro Bexa
2 3anep:KaHHasg TUTEPaATypa
3 JIuTepartypa cOHATHCTHUECKOTO pPeaTH3MA

4., JIuTepaTypa pyccKoro 3apyoekKna

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 53307218267 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETHTE CYIIECTBHTEIILHOE KEHCKOI'O POJa.

. PYOJIb

245 TUI0MIAb
3. OrOHb

4, MEBED

Options :



1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 53307218267 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETBTE CYIICCTEBHTCIILHOC KCHCKOI'O POJa.

l. pyoib
2 TIomaab
3. Or'OHb
4. MEBEb
Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 53307218268 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETHTE COOTRETCTR VIO M SKBUBANEHT CloBOCoueTaHus «Global warmingy.

L. I700ATbHOE HAKATTHBAHHUE
2 rnofansHoe 000rpeBaHHe
3. I700ATEHOE TOTEMEHHE
4. ro6anbHOE POrpeBaHue

Options :

1.1

2.2

3.3

4.4

Question Number : 67 Question Id : 53307218268 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



OTMETBTE COOTBETCTB VIO LU 3KBHBAIEHT CloBocoueTaHus «Global warmingy.

L. I100aTbHOE HAKATTHBAHHE
Z rno6anbHoe 000TPeEB aHHE
% M00aTbHOE MOTEIUIEHHE
4. o0aTbHOE POTPEBAHHE

Options :

1.1

2.2

3.3

4.4

Question Number : 68 Question Id : 53307218269 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETHTE YKBHBATIEHTHYIO A00peBHATYPY clloBa «INavyy.

L. BC
2, BBC
3. BM®
4. CB

Options:

1.1

2.2

3.3

4.4

Question Number : 68 Question Id : 53307218269 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETHTE IKBHBAJIEHTHYIO a00peBHATYPY clloBa «INavy».

I BC
2 BBC
3 BMO®
4, CB
Options :
1.1
2.2

3.3



4.4

Question Number : 69 Question Id : 53307218270 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YKa)uTe ClIoBO, B KOTOPOM HEBEPHO IMOCTABJICHO YIAPCHHC.

) npupoaa
2, OTKPEITKA
3. MarasHH

4. COJOBCIH
Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 53307218270 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YKa)HTe CIIOBO, B KOTOPOM HEBEPHO IMOCTABJICHO YIAPCHHC.

L. npupoja
2. OTKPBITKA
3 MarasHH

4, COJIOBEH
Options:
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 53307218271 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BcTapbTE BMECTO TOUEK HpﬂBHHLHLIﬁ OTBCT.

M-&I ...... 0T BOK3aJ1a 10 HAIIIEr0 YVHHBEPCHTETA Ha TAKCH.
| BhLEXAIIH

2 ChEXAJIH

3. o0BeEXaIH

4 oexanHu
Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 53307218271 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BCTaRbTE BMECTO TOUEK HpﬂBHHLHLIFI OTBET.

ME&I ...... OT BOK3aJ1a 10 HAIIEro VHHBEPCHTETA Ha TaKCH.
I BhEXAH

2 ChEXaJIH

3 o0BeEXaH

4 oexanH
Options:
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 53307218272 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BCTABBTE BMECTO TOUEK TpaB WIBHBII OTBET:

Mou ponuremu xunu B Henane 7iga roga. B mporunoM Mecale OHH ... B HumHto.
L. yexanu

2. Iepeexam

3 Ve KA

4. Tepec3Kan



Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 53307218272 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BCTaBBTE BMECTO TOUEK TpaB WIBHBIH OTBET:

Mou ponuremu xuin B Henane fga roga. B mporuioM Mecalie oOHy ... B Humuio.
I yexanu

2. Tepeexany

3 ye3Kanu

4. Tepec3Kan

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 53307218273 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BcTaRbTE BMECTO TOUEK HpﬂEH.HLHLIﬁ OTBCT.

Cectpa Moero apyra Cepres MocTynuia ... ... B 3TOM I'O71y.
s B ITHAMHACKOM TEXHOTOTHUECKOM HHCTHTYTE

2 K MHIHHACKOMY TEXHOJIOTHUECKOMY HHCTHTYTY

3. B InauAcKkui TEXHONOTrHUECKHHA HHCTHTYT

4. Ha MHHIICKOM TEXHOJIOIHUECKOM HHCTUTYTE

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 53307218273 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

BcTaRbTE BMECTO TOUEK l'IpHBHHLHLIFI OTBET:

Cectpa Moero fpyra Cepred MocTynuia ... ... B 3TOM IO71y.
L B MHOHACKOM TEXHOJIOIHYECKOM HHCTHTYTE

£ K MHAHIICKOMY TEXHOJIOTHUECKOMY HHCTHTYTY

3. B ITHAHHCKHI TEXHOIOTHUECKHA HHCTHTYT

4. Ha MHOHICKOM TEXHOIOrHUECKOM HHCTUTYTE

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 53307218274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BcTaBbTe BMECTO TOUEK HpaBHHbeIﬁ OTBET.

Krmmop Kymap GbL1 . ... IPEKPACHBIM MEBLOM, ... 0UEHD XOPOIIHM OOILTHB YICKHM aKTEPOM

I 0.1

2. WM.

3. HETONbKO... HOH
4. HH..HH
Options :

1.1

2.2

3.3

4.4

Question Number : 73 Question Id : 53307218274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BCTaBbTE BMECTO TOUEK HpaBHHbeIﬁ OTBET.

Kumop Kymap Gbut ... IPeKpacHbIM MEBLOM, ... 0UEHb XOPOLIHM O0/IHB YICKIM AKTEDOM.
. n.H

2. WIH.WH
3 HE TONBKO..., HO H
HH...HH



Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 53307218275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BcTapbTE BMECTO TOUEK HpaBHHbeIfI OTBCT.

[Tponseenenue «II1HHEND) BIEPBBIE ObLI0 OMYOIHKOBAHOB ...... rozy.
L. 1835
2. 1843
3. 1883
4. 1812
Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 53307218275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BCTaBbTE BMECTO TOUEK [PAB WILHLIN OTBET:
IIponseenenue «l1lnHenby» BOEPBbIE ObLI0 OMYOIHKOBAHO B

1835
1843
1883
1812

2w =

Options :
1.1
2.2
3.3
4.4



Question Number : 75 Question Id : 53307218276 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

K kaxKomMy CTHXOTBOPEHHIO OTHOCHTCA CIIEYIOIas cTpoda?

«JTyiie HacTasno npoOyKIeHbE:
1 BOT OoNATH ABHIACH ThI,

Kax MHMONETHOE BHJIEHBE,
Kak reHuii YHCTOH KPacoThl.»

L. «ITapycy
& WK..»
3, «Ilopa gpyr Moii nmopa»
4. «CMEPTH M103TaY
Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 53307218276 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

K KaxKomMy CTHXOTBOPEHHIO OTHOCHTCA ClEyIoIas cTpoda?

«Jlyie HacTano mpoOyxKIeHbE:
1 BOT OIATH SBIIACH ThI,

Kax MHMOTIETHOE BHAEHLE,
Kak reHuii YHCTOH KPacoThL.»

L. «ITapycy

& «K...»

3. «IIopa gpyr mMoil mopa»
4. «CMEPTH MO3TaY

Options:
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 53307218277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BCTaBbTE BMECTO TOUEK HpﬂBHHLHLIﬁ OTBCT.

Ceropgusa Mapuna yiua ¢ paboTsl B 9 YacoB, 0OLIMHO OHA ...... B 6 YaCOB.
L VHAET
2, mepenneT
3 VXOIHUT
4. MEPEXOAHT
Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 53307218277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BCTAaBLTE BMECTO TOUEK l'IpHBHHLHLIﬁ OTBCT.

Ceropgusa Mapuna yia ¢ paGoTsl B 9 YacoB, 0OBIUHO OHA ...... B 6 UACOB.
L. VHOET
2, TepEET
3 VXOIHUT
4. MEPEXoHT
Options:
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 53307218278 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETBTE IIpaB HIBHBIH 3KBHBAIEHT CJIOBOCOUETAHHA {{Tempm'a;ly contracty.

L. JONTOCPOUHBIH KOHTPAKT

Z; BPEMEHHBIH KOHTPAKT

3 B3AHMOBELITOJTHEIH KOHTPAKT
4. KpaTKOCPOUHBIA KOHTPAKT

Options :
1.1



2.2
3.3
4.4

Question Number : 77 Question Id : 53307218278 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMEThTE IIpaB WIBHBIH 3KBHBAIEHT CJIOBOCOUETAHHA {{Tempm'aly contracty.

L. JONTOCPOUHBIH KOHTPAKT

Z; BPEMEHHBIH KOHTPAKT

3 B3AHMOBELITOJTHEIH KOHTPAKT
4. KpaTKOCPOUHBIA KOHTPAKT
Options :

1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 53307218279 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMeThTE PaB WILHBIH YKBUBANEHT cIoBocoueTaHus «Insurance Company».
l BEAYIIAA KOMITaHHA

2 KPYIHAsg KOMITaHHA

3 CTpaxoBasd KOMIaHUA

(PMHAHCOBAS KOMIIAHHS

e 4

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 53307218279 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMeThTE NPAB WILHBIH 3KBUBANEHT cI0BocoueTaHus «Insurance Company».
| BEOYILAA KOMIIaHHA

2 KpYIHas KOMIaHUA

3 CTpaxOoBas KOMIIAHUA

(PHHAHCORAA KOMIIAHHS

= %



Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 53307218280 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETETE HpﬂBHHbeIﬁ JKBHBANCHT CJIOBOCOYCTAHHA «Exchauge of CUITENCY».

E; KYpC BaJIOTHI
2% 00MEH BANIOTHI
3 HHOCTPaHHAA BAMIOTA
4. TBEPTAs BATIOTA
Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 53307218280 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETBTE HpﬂBHHLHBIﬁ JKBHBANCHT CJIOBOCOYCTAHHA «Exchauge of CUITENCY».

E; KYpC BaJIOTHI
2 00OMEH BaJIHOThHI
3 HHOCTPaHHAA BAMOTA
4, TBEPIA BATIOTA
Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 53307218281 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



OTMETBTE I[Ipae WILHBIH KBHBANIEHT CIIOB0COUETAHHS «to restore relationsy.

1 BOCCTaHAaBJIHEATE OTHOLICHHA
Z VKPEIUIATE OTHOIIEHHUA
3 pa3peBaTh OTHOIICHHUA
4, pacHIupATh OTHOIIEHHA
Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 53307218281 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETHTE IIPaB WIBHBI SKBUBATICHT CJI0BOCOUETAHHUS «to restore relationsy.
I BOCCTaHABJINRATh OTHOIICHHS

2. YKpEIIATh OTHOMEHUSA

3 pa3pbBaTh OTHOMEHUSA

pACIIHPAT OTHOMEHHA

k= 1

Options:
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 53307218282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETbTe NPABWIbHBI IKBHBANEHT CIIOBOCOUETAHUS «to exchange greetingsy.
0OMEHIB AThCA MHEHHAMH

I
2 00MeHMBaThHCA HH(OpMaLHEN
3. 0OMEHHBATHCA MPHBETCTBHAMK
4. 00MEHHB aThCA B3MNIAZAMIL
Options:
1.1
2.2
3.3

4.4



Question Number : 81 Question Id : 53307218282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETBTE IIPaB WIbHBI SKBHBAIEHT CIIOBOCOUETAHHA «to exchange greetingsy.

1. 00MeHHBATLCA MHEHHAMH
2 00OMeHMBaThCA HH(OpMALHEN
3 00MEHHB AThCA [PHBETCTBUAMH
4, 0OMEHHBATHCA BITNIAAMU
Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 53307218283 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETbTE NPaB WIbHAIH SKBHBATEHT CTEAVIOMEr0 coBocoueTanus «Secret balloty.

l. OTKPHITOE [ON0COBAHHE
2 TAHOE r0JI0COBAHHE
3. MPAMOE TOJIOCOBAHHE
4, BceoOmee ronocopaHue
Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 53307218283 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETbTE NPaB HIbHbIH SKBUBATIEHT CIEAVIOMEr0 COBOCOUETaHHA «Secret balloty.

1. OTKPHITOE [0M0COBAHHE
2, TAHHOE rOJI0COBAHUE
3. MPAMOE TONOCOBAHHE
4. BCeoOIIEE T00COBAHHE
Options :
1.1
2.2

3.3



4.4

Question Number : 83 Question Id : 53307218284 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B KaKux H3 HIKE-JAHHBIX CTOBOCOUETAHHI TIPHITAraTENbHOE «30710TOID) BBITIOHAET qu'HKJ_[HIO
Ka1ECTBEHHOT0 HpHﬂaFaTﬁﬂbHOFU?

| 3010THIE KOMBLA
2. 30I0TbIE YKpaLIEHHA
3. 3010TblE Mejanu
4. 3070TbIE PyKH
Options :

1.1

2.2

3.3

4.4

Question Number : 83 Question Id : 53307218284 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B KaKux 13 HUKe-JaHHBIX CTOBOCOUETAHHI TIPHITAraTENbHOE «30710TOID) BBITOHAET [1]}'[-11\'].[11}0
Ka4CCTBEHHOI0 HpHHElFaTGHbHOFO?

|, 3070THIE KOMBLA
2. 3070Thie VKpaLIEHHA
3. 3070Thie MEMIATH
4. 307I0TbIE PyKHU
Options:

1.1

2.2

3.3

4.4

Question Number : 84 Question Id : 53307218285 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



KaKas u3 HHKe-TJaHHBIX JHCLHIIHH ABIAETCA BHICIIHIM YPOBHEM FpElMMH,THKH?

| DoHETHKA
2. Mopgonorus
3 CHHTAKCHC
4. JIEKCHKOIOTHA
Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 53307218285 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kakas u3 HuKe-JaHHBIX JHCLHIIHH ABTACTCA BHICIIHUM YPOBHEM FPHMMH,THKH?

| DoHeTHKA
2 Mopdonorus
3 CHHTAKCHC
4 JIeKCHKOIOTHA
Options:
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 53307218286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kaxoii 13 HHAE-TaHHBIX [TACHBIX KIACCH(HIHPYETCA 1a0 HATH30BAHHBIM?

i 2 bl
2, H
3 y
4. a
Options :
1.1
2.2
3.3

4.4



Question Number : 85 Question Id : 53307218286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kakoil U3 HiKe-JTaHHBIX [TIACHBIX KIacCH(PHIEPYeTC a0 HAIH30BAHHbIM?
3

B =
R el =

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 53307218287 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETHTE OIYIIEBJIEHHBIE CYLIECTBHTENbHEIE H3 HHKE-AHHLIX CIIOB!

¥ apMHA
2z Hapox
3 TONIA
4. cobaka
Options :

1.1

2.2

3.3

4.4

Question Number : 86 Question Id : 53307218287 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETHTE OIYIIEBJIEHHBIE CYIIECTBHTENbHEIE H3 HHKE-TTAHHLIX CIIOB!

L apMHA
2 HapoZA
3. TONMa
4. co0aka
Options :

1.1

2.2

3.3



4.4

Question Number : 87 Question Id : 53307218288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETBTE HCOIVIICBJICHHBIC CYHICCTBHTCIILHBIC H3 HHAKC-TAHHBIX CIIOB.

| KOpOJb

2 (ep3b

3. Tpyn

4 IOKOHHUK
Options :

1.1

2.2

3.3

4.4

Question Number : 87 Question Id : 53307218288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETBTE HEOIVIICBJICHHBIC CYHICCTBHTCIILHBIC H3 HHAKC-TAHHBIX CIIOB.

1 KOpoJb

2 (ep3b

3. Tpyn

4 MIOKOHHHK
Options:

1.1

2.2

3.3

4.4

Question Number : 88 Question Id : 53307218289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BCTaBbTE BMECTO TOUEK [IpaB HILHBIN OTBET:

B HIEPBBIC B HCTOPHH Poccun Bblﬁﬂpbl MPE3HCHTA COCTOANHNCE ...... ;

E; 12 uroHa 1991 T.
2. 8 mapta 1990 r.
3. 12 urona 1992 .
4. 22 auBapsa 2000 .

Options :

1.1

2.2

3.3

4.4

Question Number : 88 Question Id : 53307218289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BCTaRbTE BMECTO TOUEK [Ipae WILHBIN OTBET:

B HIEPBLIC B HCTOPHH Poccun Bblﬁﬂpbl MPE3HTCHTA COCTOAIHNCE ...... ;

E; 12 urona 1991 r.
2 8 mapta 1990 r.
3 12 utong 1992 1.
4. 22 gupapa 2000 r.

Options:

1.1

2.2

3.3

4.4

Question Number : 89 Question Id : 53307218290 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

KaKoe U3 HHKE JaHHLIX CI0B IPHHAJJIC/KHT K IICPEOMY CKJIOHEHHIO?

L CTpaHa
2. IoJe
3. OKHO
4. HOUb



Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 53307218290 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kaxoe U3 HHKE JJaHHBIX CIOB IMPHHAAICKHT K IEPBOMY CKJIOHEHHIO?

L CTpaHa
2. 1oJie
3. OKHO
4. HOUb
Options :

1.1

2.2

3.3

4.4

Question Number : 90 Question Id : 53307218291 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kaxoe U3 HUKE JaHHBIX CI0B IMIPHHAJICAKHT K TPETEEMY CKIIOHEHHIO?

¥ JIEKIHA
2 3EMIIA
3. CTOII
4. HOUb
Options :

1.1

2.2

3.3

4.4

Question Number : 90 Question Id : 53307218291 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Kaxoe U3 HIKE JaHHBIX CI0B IMPHHAANCKHT K TPETEEMY CKIOHEHHIO?

¥ JIEKIHA
2 3EMIIA
3. CTOII
4. HOUb
Options :

1.1

2.2

3.3

4.4

Question Number : 91 Question Id : 53307218292 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETHTE Pa3HOCKITOHACMOE H3 HHKE JaHHLIX CIIOB.

1. CEMbBA
Z; BpeMi
Y TETA
4. apMHA
Options:

1.1

2.2

3.3
4.4

Question Number : 91 Question Id : 53307218292 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETBTE Pa3HOCKIIOHACMOC H3 HHKC JJaHHBIX CIIOB.

1. CEMbA
i BpeEMA
5 TETA
4. apMHA
Options :

1.1

2.2

3.3

4.4



Question Number : 92 Question Id : 53307218293 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETBLTE CDﬁHpH,'IﬁIILHDE HHCIHTCIBHOC H3 HHAKC JaHHBIX CIIOB.

I NBOE
2. IBa
3 ATh
4. TPH
Options :

1.1

2.2

3.3

4.4

Question Number : 92 Question Id : 53307218293 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETBLTE CDﬁHpHTEJ'ILHDE HHCIIHTC/IEHOEC H3 HHAKC JAaHHBIX CIIOB.

L. NIBOE
2 IIBa
3. ATk
4. TPH
Options :

1.1

2.2

3.3

4.4

Question Number : 93 Question Id : 53307218294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kakxoe H3 HHKE JaHHBIX SBJIAETCI HE YHCIHTEIBLHBIM?

l. MATEPKA
2. YETBEPO
3. ECATE
4. HIeCTepo
Options :

1.1

2.2

3.3



4.4

Question Number : 93 Question Id : 53307218294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kakoe H3 HHKE JaHHBIX SBJIAETCA HE YHCIHTEILHBIM?

Iis ATEPKA
2, YETBEPO
3. ECATH
4. HIecTepo

Options :

1.1

2.2

3.3

4.4

Question Number : 94 Question Id : 53307218295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ompenenute BBOTHOE CI0BO B MpenokeHun: - Jlobpoe yIpo! Kak yBac uayr gena?

[ Kak

2. HIYT

3. JloGpoe y1po!
4. Tiena
Options:
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 53307218295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Onpenenute BBOJHOE CJI0BO B MpenokeHuy: - Jlobpoe yIpo! Kak y Bac uayr gena?

[ Kax

2. HITYT

3. JloGpoe y1po!
4, 7iena

Options :
1.1



2.2
3.3
4.4

Question Number : 95 Question Id : 53307218296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ompepenute THI JaHHOTO MPHAATOUHOTO TPEANoKeHH: TOT I0M, K KOTOPOMY MbI LILTH, CTOAT
HA rope.
|, OmpenenuTensHoe

2. Ilpugatouroe o0pasa JeicTB IS
3. II3pAcHHTENbHOE
4

[IpupgaTouHoe cpapHEHHS
Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 53307218296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OmpE/IENUTe THI JAHHOTO NPHTIATOHOT0 MPERNOKERHS: TOT JOM, K KOTODOMY Mbl IILITH, CTOA
Ha Tope.

| OmpenenurenbHoe

2. IlpupatouHoe o0pasa JefcTRHA
3. II3vAcHHTENBHOE

4. IlpugatouHoe CpaBHEHIA
Options :

1.1

2.2

3.3

4.4

Question Number : 96 Question Id : 53307218297 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



KakuHe U3 HHKE JaHHBIX YaCTEH peuH ABIAKTCA CITYKEOHBIMH?

Iis Hape4uHs
2, MECTOHMEHHS
3 IIPEIOTH, COKO3bI, YACTHILIBI
4. MEKIOMETHA, JIEEIPHYACTHA
Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 53307218297 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kakue 13 HUKe JaHHLBIX YacTel peuH ABNAI0TCA CITYKeOHBIMH?

l. Hapeuus
2, MECTOHMEHHA
3. IIPEAIOTH, COI03bI, YACTHLIBI
4. MEKIOMETHA, JIEEIPHYACTHA
Options:
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 53307218298 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BcTaRbTE BMECTO TOUEK HpElEHHLHbeI OTBCT.

...... MCTOT H3YHACT A3BIKH, PaCIIONOXKCHHBIC Ha Pa3HBIX MECTAaxX MHpa.

1 CHHXPOHHBII

2 CoIOCTaB UTENBLHLIH

3. OnHcaTenbHbIH

4 JHaxpoHHYEeCKHi
Options :

1.1
2.2
3.3



4.4

Question Number : 97 Question Id : 53307218298 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BCTaRbTE BMECTO TOUEK HpﬂEHHLHLIfI OTBCT.

...... MCETOT H3YHACT A3BIKH, PACIIONOKCHHBIC Ha PA3HBIX MECTAX MHpPa.

1 CHHXPOHHBIH
2 CoIoCTaB UTENBHBIA
3. OnucaTenbHbIH
4 JnaxpoHHYECKHH
Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 53307218299 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YKaxkuTe HpﬁBHHbeIFI BApHAHT PacCTAHOBKH 3HAKOB MPETHHAHUA B 0ECCOI03HOM CITOKHOM
MIPETTIOKCHHH:

| Jleperbs CTOAH, HEMOJBHIKHO OMYCTHB OEMbIE BETBH, 3aPOCIH CUPEHE, C BYX CTOPOH
GTKOHHOIT /IBEPH, IPOTHYMHC MOJ] CHETOM.

2. JlepeBbs CTOANH HEMOBUAHO, OMYCTHB OENBIE BETBH; 3ADOCTH CHPEHE, C JIBYX CTOPOH
GAIKOHHOIT ZIBEPH, TIPOTHYMHC TOJ] CHETOM.

3. JlepeBbs CTOSH, HEMOJIBHIKHO OMYCTHB GEMbIE BETRH 33DOCTH CHDEHE, C /IBYX CTOPOH
GATKOHHOIT /IBEPH, IPOTHYMHC MOJ] CHETOM.

4. JlepeBbA CTOATH HEMOTBHKHO, OMYCTHB GEbIc BETBH; 3aPOCIH CHPEHH C BYX CTOPOH
GATKOHHOIt /IBEPH, IPOTHYMHC [MOJ] CHETOM.

Options:
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 53307218299 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YKaxuTe HpﬁBHHbeIFI BapHAHT PaCCTAHOBKM 3HAKOB TPEITHHAHHA B 0ECCOI03HOM CITOKHOM
NIPENTIOKEHHH:

. JlepeBbs CTOSH, HEMOIBHIKHO OMYCTHB GENbIE BETBH, 3aPOCTH CUPEHH, C IBYX CTOPOH
GAIKOHHOIT JIBEPH, TIPOTHYMHC [OJ] CHETOM.

2. JlepeBbs CTOSNH HEMOBUAHO, OMYCTHB GENBIE BETRH; 3ADOCTH CHPEHEH, C /IBYX CTOPOH
GATKOHHOIT ZIBEPH, POTHYMUC [OJ] CHETOM.

3. JlepeBbs CTOSNH, HEMOMIBHIKHO OMYCTHB GEMbIE BETRH; 33DOCTH CHPEHE, C /IBYX CTOPOH
GATKOHHOIT /IBEPH, IPOTHYMHC MOJ] CHETOM.

4, JlepeBbA CTOAH HEMOJBHKHO, OMYCTHB GE/blc BETBH; 3aPOCIH CHPEHH C JBYX CTOPOH
GATKOHHOIT IBEPH, IPOTHYMHC MOJ] CHETOM.

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 53307218300 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETHTE THII NIPEANTOKEHNA: «Ha TeHbIH YMa He KYITHIIE.»
l. OnpeaencHHO-THYHOE NPETOKEHHE

2, Heomnpenen€éHHO-THYHOE NPENIOKEHHE
3. O0600MEHHO-THYHOE [TPETOKEHHE
4. be3nmuuHoe NPEIoKEHHE
Options:
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 53307218300 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMeThTE THII NIPeANTOKeHNA: «Ha JeHbI'H yMa He KYIIHIIb.»
l. OnpeaeneHHOo-THUHOE MPEToKEHHE

2 Heonpenen€éHHO-THUHOE MPENIOKEHHE
3. O0600MEHHO-THUHOE [TPETOKEHHE
4. bes3nuuHoe NpeniokeHHe

Options :



1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 53307218301 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

O1methTe THI NpeAnoxenns: «I1I€not, pobkoe JhIXaHbe, TPETH COTOBhDY.
[ Ha3pBHOE NIpezioxkeHue

2 HeomnpenenéHHo-THYHOE NPEAT0oKEHHE
3 O00O0EHHO-THYHOE TIPENTOKEHHE
4 be3nuuHoe NpeaIoKeHne

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 53307218301 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

O1metrTe THI NpeAnoxenns: «I1I€not, poGkoe JhIXaHbe, TPETH COTOBbAY.
F Ha3pBHOE npefioxkeHue

2, HeompenenéHHOo-THUHOE TPEAT0KEHHE
3. O00O0EHHO-THYHOE MPENTOKEHHE
4, be3nnyHoe NpeasoKeHue

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 53307218302 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YKaKHTe KaKkoil MeTOJ PEMoTaBaHis PYCCKOro A3bIka YIOTPEONAETCA B CIIENYIOMIEN
CUTYauuu?

IIpenogapatens: - 3apascteyitte! Mend 30ByT Aita JIeonuzjoHa. Kak Bac 308y1?
CTyZeHT: - 3apaBcTBYiTe! MeHs 30BYT AHTOHHO.

I I'paMMaTHUECKHH METO]]

2 MeTop meperona

3. KoMMyHHKATHBHBIl METO]]
4 I TaronbHO-aKTHRHBIN METON

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 53307218302 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YKaKUTE KAKOH METOJ IIPEMOJABAHHA PYCCKOTO A3bIKA YIOTPEOAETCA B CRENYIOMEN
CUTYauuu?

I1penomaBatens: - 3ppaBcTeyiiTe! Mend 30ByT Ana JIEoHHoBHA. Kak Bac 30BYyT?
CTypenT: - 3npasctByiite! Mens 30BYT AHTOHHO.

I I'paMMaTHUECKHA METO]]

2 Merop nepesona

3. KoMMyHHKATHBHBI METO]]
4 I'maronbHO-aKTHRHBIN METON

Options:
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 53307218303 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BcraBbTe BMECTO TOUEK TIPABIIBHBIA OTBET:
Buepa HéM npe3ugenT Pocc H npeMbep MUHHCTD FIHIHH TONMHCATH ATS ... ;

L TIOKYMEHTBI
2. JOKyMeHTa
3. JIOKYMEHTOB
4. JIOKyMEHTY

Options :

1.1

2.2

3.3

4.4

Question Number : 102 Question Id : 53307218303 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BCTaBbTE BMECTO TOUEK TIPABIUTBHBII OTBET:
Buepa guém nipe3unent Poccii 1 mpeMbep MUHUCTD MIHIHH MORMHCATH TS ... .

[, JOKYMEHTHI
2. JIOKyMeHTa
3. JOKYMEHTOB
4. JIOKyMEHTY

Options:

1.1

2.2

3.3

4.4

Question Number : 103 Question Id : 53307218304 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



OTMETBTE CIENYIOLIHE HCTOPHKO-KYIBTYPHBIE COOBITHA B XPOHOIOTHUECKOH
TOCTIEZI0BATENBHOCTH:

A.  [lens poxaenud A.C. ITymkuHa

B. OcHopaHue ropofia «[IetepOypr»

C.  OcHoranue MoCKOBCKOT0 YHHBEPCHTETA

D.

OcHoranKe MoCKBEI
Choose the correct answer from the options given below:

I D,B,C A

% B,C,D,A

3. B,C,A,D

4. A,B,D,C
Options :

1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 53307218304 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETBTE CIENYIOLIHE HCTOPUKO-KYIBTYPHBIE COOBITHA B XPOHOIOTHYECKOH
TOCTIEZI0BATENBHOCTH:

A.  Jenb poxaennsa A.C. IIymkuHa

B.  Ocuoeanue ropona «[Ierepoypr»

C.  OcHoraHue MOCKOBCKOI0 YHHBEPCHTETA

D.

OcHoBaHHE MOCKBBI
Choose the correct answer from the options given below:

l. D,B,C A

2. B,C,D, A

3. B,C,A,D

4. A,B,D,C
Options:

1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 53307218305 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



OTMETBTE Clieylome npon3pezieHnd @. JocTeRCKOr0 Ha OCHOBE JATHI HX MyGIHKALIHH B
XPOHONOTHYECKOM TOPATKE.

A.  «lIpectyrueHne H HAKA3AHHEY

B.  «beqHbIe Mo

C.  «bparba Kapanma3ossm

D.  «benbie HOUM»

Choose the correct answer from the options given below:

I A, 0. D B
2. CD,BA
3. D,BCA
4 B,D,AC

Options :

1.1

2.2

3.3

4.4

Question Number : 104 Question Id : 53307218305 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMeThTe cnenytomue npomseenchna @. JocToeackoro Ha OCHOBE NIAThl HX MyGAHKALIHH B
XPOHOJOTHUECKOM TOPSTKE.

A, «IpectynneHne H HakasaHue)

B.  «bepHbie monm»

C.  «bparba Kapama3osbn

D.  «bembic HOUM»

Choose the correct answer from the options given below:

I A0 DB
2. CD,BA
3. D,B,CA
- B.D,AC

Options:

1.1

2.2

3.3

4.4

Question Number : 105 Question Id : 53307218306 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



OTMETBTE CIENVIOLIHE ABIEHUT HCTOPHH B XPOHOIOTHUECKOM TTOPATKE.
A.  Ilpasnenue II€tpa I

B. Benukaa OTeuecTReHHas BOiiHA
C. ITapceoBanHe Katepuusi I1
D. OTeuecTBEHHAA BOiHA
Choose the correct answer from the options given below:
L. A,C,B,D
2, B,C,D, A
3. C,A,B,D
4. A,C,D,B
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 53307218306 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETBTE CNEAYIOMIHE ABNEHHA HCTOPHH B XPOHONOTHUECKOM TIOPATKE.
A.  Ilpasnenue IT€pa I
B. Benukag OTeuecTReHHas BoHHA

92 ITapcteoBanue Karepuus! 11
D. OTeuecTBEHHAA BOHHA
Choose the correct answer from the options given below:
1. A ,C,B,D
2, B,C,D, A
3. C,A,B,D

4. A,C,D,B

Options:

1.1

2.2

3.3

4.4

Question Number : 106 Question Id : 53307218307 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



OTMETBTE CIENVIOIUE POCCHITCKIE NPA3THUKH B XPOHOMOTHUECKOM MOPAZKE MO JATAM HX
TIPa37IHOB AHH.

A.  ]leHb €IHHCTRA

B.  JleHb KOCMOHABTOB

C.  Jens Poccun

D.  JleHs noGensl

Choose the correct answer from the options given below:

. B,DCA
2. D,CBA
3 C,D,AB
4. A,C,D,B
Options :

1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 53307218307 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETLTE CJIETVIOIIHE pOCCHFICKHG MPa3AHHKH B XPOHOTOTHYECKOM IOPATIKE IO TaTaM HX
TPa37IHOBAHHA.

A.  ]JleHb eHHCTRA

B.  JleHb KOCMOHABTOB

C.  Jlens Poccun

D.  Jledb noGeqsl

Choose the correct answer from the options given below:

L. B,D,C A
2. D,CBA
3 C,D,A,B
4 ACDB
Options:

1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 53307218308 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



OTMETBTE CENVIOMHE ENHHHIbI PACCTOTHIA B BOCKOMIAIIEM TOpaKe (Hampumep, 1, 2, 10, 14).
A.  CEMb KHTOMETPOB

B.  momropa KuiomeTpa

C.  IATh C MOMOBHHOI KHTOMETpA

D.  momkmnomerpa

Choose the correct answer from the options given below:

.  D,CBA
2. D,BCA
3. ACBD
4 ABDC
Options :
1.1

2.2

3.3

4.4

Question Number : 107 Question Id : 53307218308 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETBTE CTETYIOIHUE ETHHHIIbI PACCTORHHS B BOCKOIAMIEM MopAzke (Hampumep, 1, 2, 10, 14).
A.  CEMb KHTOMETPOB

B.  momropa KunoMeTpa

C.  I4Th C MOMOBUHOH KHTTOMETpA

D.  nomkmiomerpa

Choose the correct answer from the options given below:

.  D,CBA
2. D,B,CA
3. ACBD
4, ABDC
Options:
1.1

2.2

3.3

4.4

Question Number : 108 Question Id : 53307218309 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



OTMETBTE CENVIOMHE ENHHHIbI PACCTOTHIA B BOCKOMIAMIEM TOpAKe (Hampumep, 1, 2, 10, 14).
A.  OfIHAYeTBEpTAd

B.  omHaBTOpad

C.  onHa mTad

D.  onHA TpeETHA

Choose the correct answer from the options given below:

.  ACBD
2. BDAC
3. CADB
4 CB,DA
Options :
1.1

2.2

3.3

4.4

Question Number : 108 Question Id : 53307218309 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETBTE CTENYIOIHUE EHHHIIb! PACCTORHHS B BOCKOIAMIEM MopAzke (Hampumep, 1, 2, 10, 14).
A.  OfIHAYeTBEpTAd

B.  ogHaBTOpad

C.  opHa mTad

D.  ofHa TpeTbA

Choose the correct answer from the options given below:

.  ACBD
2. B,DAC
3. CADB
4  CB,DA
Options:
1.1

2.2

3.3

4.4

Question Number : 109 Question Id : 53307218310 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



HEI{D'IUPLIMH BHIOAMH JIHPHKH ABJAKTCA ...... :

A. oja
B. bacHA
C. MoCIaHHE
D. OUEpK
Choose the correct answer from the options given below:
L. A, B Only
2 B, C Only
3, C, D Only
4. A, C Only

Options:

1.1

2.2

3.3

4.4

Question Number : 109 Question Id : 53307218310 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HEI{D'IUPLIMH BHIOAMH JIHPHKH ABJIAKTCA ...... :

A. ofa

B. OacHa

C. MMOCIaHHe

D. oUepK

Choose the correct answer from the options given below:
L. A, B Only

& B, C Only
3. C, D Only
4. A, C Only

Options:
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 53307218311 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



KaKue TuTeparypHble HanpasieHud rococTBOBATH B pycckoi mureparype X VIII exa?
A.  Knaccumusm

B.  CumBomnM

C.  CeHTHMEHTATH3M

D.  Kpuruueckuit peatusm

Choose the correct answer from the options given below:

I. A DOnly
2. B,DOnly
3. A ,COnly
4. B,COnly

Options :

1.1

2.2

3.3

4.4

Question Number : 110 Question Id : 53307218311 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kakue muTepaTypHble HanpaBIeHHA ToCIOCTBOBANH B pycckoil nmuteparype X VIII Beka?
A.  Knaccuuusm

B.  CumeomniMm

C.  CeHTHMEHTATI3M

D.  Kpuruueckuii peatusm

Choose the correct answer from the options given below:

I. A DOnly
2. B,DOnly
3. A ,COnly
4. B,COnly

Options:

1.1

2.2

3.3

4.4

Question Number : 111 Question Id : 53307218312 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YKaKHUTe MpeJICTaB UTeNel cepeOpAHOro BeKa:

A. Ocun MaHnensiram

B. EBrenuii EBRTYINIEHKO

L Anexcannp I'puboenos

. Anexcauap biok

Choose the correct answer from the options given below:
l. A, D Only

2, B, D Only

3. A, C Only

4. B, C Only

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 53307218312 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YKaKHUTe MPeEJICTaB UTENel cepeOpAHOro BeEKa:

A. Ocun MaHnensiram

B. EBreHuii EBTYIIIEHKO

- Anexcannp I'puboenos

D. Anexcaup biok

Choose the correct answer from the options given below:
L, A, D Only

2 B, D Only

3. A, C Only

4. B, C Only

Options:
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 53307218313 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Kaxne HPOH3BCACHHA OTHOCATCA K CH,THPE?

A, «KoTnoBan»

B. «PeBu3op»

C. «benbId mapoxon

D. (OKHBH H TOMHI

Choose the correct answer from the options given below:
L. B, D Only

2 B, C Only
3, A, B Only
4. A, C Only

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 53307218313 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kakxue HPOHU3BEACHHA OTHOCATCA K CH,TI/IPE?

A, «KoTnoBan»

B. «PeBu30p»

C. «benpli mapoxon»

D. «JKHMBH U IIOMHI

Choose the correct answer from the options given below:
L. B. D Only

& B, C Only
3. A, B Only
4. A, C Only

Options:
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 53307218314 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



VKaKuTe pacckassl AHTOHA Uex0Ba, KOTOPBIE 0THOCATCA K paHHeMY Tepropy (10 1885 roa)
€10 TBOPUECKOIT JEATENBHOCTH:

A, «/lama ¢ cobauKoi»
B.  «CMepth UHHOBHHUKA)
C.  «Uemnopex B yrmpey
D. «Xawmeneom
Choose the correct answer from the options given below:
. B,DOnly
2. B,COnly
3. ABOnly
4, A,COnly
Options:
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 53307218314 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

VakuTe pacckasbl AHTOHA YexoBa, KOTOPBIE OTHOCATCA K paHHeMy TepHoay (1o 1885 rofa)
€10 TBOPUECKOH [1EATENBHOCTH:

A, «/lama ¢ cobauKoi»
B.  «CMepTh UHHOBHHKA
C.  «Yenoek B dyTapen
D.  «Xameneomw
Choose the correct answer from the options given below:
. B,DOnly
2. B,COnly
3. A /BOnly
4. A, COnly
Options:
1.1
2.2
3.3

4.4



Question Number : 114 Question Id : 53307218315 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMeEThTE NPEACTABUTENEH JIATEPHON TPO3HI:

A. Bapunam ITlanamor

B. Muxauin bynrakos

L I"eopruii BiagumMos

D. Muxaun ITosioxoB

Choose the correct answer from the options given below:
l. B, D Only

2, B, C Only
3. A, B Only
4. A, COnly

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 53307218315 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OTMETHTE NPENCTABUTENEH JTATEPHON TPO3BI:

A. Bapunam ITlanamonr

B. Muxaun bynrakor

- I"eopruii Bnagumos

D. Muxaun ITTosoxoB

Choose the correct answer from the options given below:
L, B, D Only

2 B, C Only
3. A, B Only
4. A, COnly

Options:
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 53307218316 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Kaxue 13 crefylomux npoI3BeieHuil 0THOCATCA IPAMATHUECKOMY POJTY JIHTEPATypb?

A, «Knom
B.  «bparckaa [OCy
C. «pozan
D.  «YTuHad oxora»

Choose the correct answer from the options given below:

I.  A,C DOnly
2. B, C,D Only
3. A,B,DOnly
4. A, B, C Only
Options :

1.1

2.2

3.3
4.4

Question Number : 115 Question Id : 53307218316 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kakne 3 clIeyio muX Mpom3BeNeHHil 0THOCATCA ApaMaTHUECKOMY POy TUTEpATyPhL?

A, «Knom
B.  «bparckaa ['5C»
C. «posay
D.  «YTuHad oxoTa»
Choose the correct answer from the options given below:
I. A CDOnly
2. B, C, D Only
3. A,B,DOnly
4. A, B, C Only
Options:
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 53307218317 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



K mucatenam HoBoil peaHCTHUECKOH PO3bI COBPEMEHHOr0 MEPHONA OTHOCATCA ... :
A. Y. AiTMatoB

B.  C.IHapryxos

C. JL Ynuukag

D.  B. Madxockuil

Choose the correct answer from the options given below:

I. A BOnly
2. D,AOnly
3. B,COnly
4. C,DOnly

Options :

1.1

2.2

3.3

4.4

Question Number : 116 Question Id : 53307218317 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

K nucatensm HoBoil peanuCcTHYECKOH IPO3I COBPEMEHHOT0 MEPHOA OTHOCATCA ... :
A. Y. AiTMaToR

B.  C.[Iapryxos

C. JL Ynuukas

D.  B. MaskoBckHuii

Choose the correct answer from the options given below:

I. A ,BOnly
2. D,AOnly
3. B,COnly
4. C,DOnly

Options:

1.1

2.2

3.3

4.4

Question Number : 117 Question Id : 53307218318 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



KakuHe U3 cIeaywHx cTpaH BXoIAT B coctaB CHI™

A. OCTOHHA
B. KazaxcraH
C. JlaTBHA
D. Y30€eKHCTaH
Choose the correct answer from the options given below:
L, A, B Only
i1 A, D Only
3. B, C Only
4. B, D Only
Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 53307218318 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

KakuHe u3 cIeayomHx cTpaH BXoIAT B coctaB CHI™

A, OCTOHHA
B. KaszaxctaH
C. JIaTBHA
D, Y30eKkucraH
Choose the correct answer from the options given below:
L, A, B Only
i A, D Only
3. B, C Only
4. B, D Only
Options:
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 53307218319 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Kakue u3 CIICAVIOHX PYCCKHX HMEH HE ARJIAITCA KPaTKHMH HMEHaMH?

A.  TamnHa
B. AnekcaHzpa
kL AHpproma
D. Cepéxa
Choose the correct answer from the options given below:
1. A, B Only
2 A, D Only
3. B, C Only

4 B, D Only

Options :

1.1

2.2

3.3

4.4

Question Number : 118 Question Id : 53307218319 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kakue u3 CNIEVIOMUX PYCCKHX HMEH HE ABIAIOTCA KpaTKHMH HMEHaMH?

A.  TamHa
B. Anexcanzpa
L Anniproma
D. Cepéxa
Choose the correct answer from the options given below:
1. A, B Only
2 A, D Only
3. B, C Only

4 B, D Only

Options:

1.1

2.2

3.3

4.4

Question Number : 119 Question Id : 53307218320 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Kakue U3 cneqyioux cTpaH ABJIAITCA WieHaMH opraHuzaiyy [IOC?
A. Kuraii

B. DpaHuua
k- HNunus
D. Bpasunus
Choose the correct answer from the options given below:
1. A, B Only
2 A, COnly
¥ B, C Only
4 B, D Only

Options :

1.1

2.2

3.3

4.4

Question Number : 119 Question Id : 53307218320 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kakue H3 crnenyromux cTpaH ABIATCA WieHaMH opraHusaiuu [IOC?
A. Kuraii

B. @paHLua
G HNunus
D. Bpasunus
Choose the correct answer from the options given below:
L. A, B Only
2 A, COnly
¥ B, C Only
4 B, D Only

Options:

1.1

2.2

3.3

4.4

Question Number : 120 Question Id : 53307218321 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Kakue u3 cnegylomux a00pesuaTyp HCMOIb3YIOTCA /1714 PAsHBIX MHHHCTEPCTB B Poccn?
A.  MOK

B.  Mundux
C.  MuHoGopoHsl
D. MB]
Choose the correct answer from the options given below:
I. A CDOnly
i B, C, D Only
3. A,B,DOnly
4. B, C, D Only
Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 53307218321 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kakue 13 cenytomux a60peBHaTYp HCTOb3YIOTCA 14 PasHBX MIHHCTEPCTB B Poccin?
A.  MOK

B.  Munjun
C.  MuHoGopoHs!
D. MB]
Choose the correct answer from the options given below:
I. A, DOnly
8 B, C,D Only
3. A,B,DOnly
4, B, C, D Only
Options:
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 53307218322 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



...... Hman
A CYACThS
B C [pa3iHHKOM
C.  Onaromonyuus
D.  wmupa
Choose the correct answer from the options given below:
L, B, C, D Only
2. A, C DOnly
3. A, B, D Only
4. B, C, D Only
Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 53307218322 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

...... U
A CUACTbSA
B C [pa3AHHKOM
C.  Omaromonyuus
D.  mupa
Choose the correct answer from the options given below:
L, B, C, D Only
2. A,C DOnly
3. A, B, D Only
4. B, C, D Only
Options:
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 53307218323 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



B KaKHX HHE-TAHHBIX CJI0BOCOYETAHHAX YIOTPEOIAETCA OTUHHUTENbHAA CBA3b
COrIacORAHHUE?

A.  TpekpacHas moroa

B. HITH MEJIEHHO

C.  YHTaTh KHHTY

D.  1moOpbIi yenoB ek

Choose the correct answer from the options given below:

I.  AandBonly
2 A and D only
3. BandConly
4. Cand D only

Options :

1.1

2.2

3.3

4.4

Question Number : 122 Question Id : 53307218323 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B KAKHX HUKe-TAHHBIX CTOBOCOUETAHHAX YIOTPEOIAeTcs MOTUHHUTENRHAA CBA3b
COrTACORAHHUE?

A.  TpekpacHas rmoroga

B. HITH MEJIEHHO

C.  YHTaTh KHHTY

D.  moOpbli yemoB ek

Choose the correct answer from the options given below:
I.  Aand Bonly

2 A and D only
3. BandConly
4. Cand D only
Options:
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 53307218324 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



KaKue 13 HIKe TAHHBIX CIT0B ABNAIOTCA CYOCTAHTHPOBAHHBIMH CYIIECTB HTEILHLIMI?
A, ayguTOpHS

B.  paGounii
E. CTOJI0BAS
D. NAILTO

Choose the correct answer from the options given below:
I. Aand Bonly

2. AandDonly
3. BandConly
4. Cand D only
Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 53307218324 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

KaKue 13 HIKe TAHHBIX CTI0B ABMAIOTCA CYOCTAHTHPOBAHHBIMHU CYIIECTB HTETLHBIMI?
A, ayguTOpHS

B.  padounii
E CTOJI0BAs
D. NaneTo

Choose the correct answer from the options given below:
I.  AandBonly

2. Aand Donly
3. BandConly
4. Cand D only
Options:
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 53307218325 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Yro obmero y .A. bynuna, M.A. ITTonoxora, b.JI. ITactepHaka?
. Bce onu smurpupopanu u3 CCCP Ha 3amaf.

2; Bce oHH ObUTH NPENOJABATENAMU B YHHBEPCHTETE.

3 Bce ObutH npHcyAxaeHb! HoOenes cKoi MpeMHH.

4 Bce oHH ObLITH MONYNAPHBIMH PYCCKHMH ITHCATENAMH.
Choose the correct answer from the options given below:

l. A and B only

2 A and D only

3. B and C only

4. C and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 53307218325 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yro obmiero y 1M.A. bynuna, M.A. ITTonoxoea, b.JI. ITacTepHaka?
l. Bce onn sanvmrpuporanu u3 CCCP Ha 3anaf.

2z Bce oHH ObUTH NPENOJABATENAMU B YHHBEPCHTETE.

3. Bce Oblmi npucyskgensl HoOenes cKoil MpeMHH.

4. Bce oHH ObLITH MONYIAPHBIMH PYCCKHMH ITHCATENAMH.
Choose the correct answer from the options given below:

l. A and B only

2 A and D only
3. B and C only
4 C and D only
Options:
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 53307218326 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



KaKue 03 Hike JaHHBIX ACMEKTOB CUHTAIOTCA MPABHIBHLIMH /1A PYCCKOTO A3bIKA?
A.  Pyccuii A3bIK ABIAETCA (IIEKTHBHBIM A3bIKOM.

B.  ViapeHue BHIMONHAET CMBICTIOPA3MIYHTENLHYIO () YHKIHIO B PYCCKOM A3bIKE.
C.  ITopdpoK cloB HE ABMAETCA THOKHM B PYCCKOM A3BIKE.

D.  CrnokHble NPeNOKEHH HE CBONCTBEHHBI PYCCKOMY A3BIKY.

Choose the correct answer from the options given below:

I.  AandBonly

2. Aand D only

3. BandConly

4. Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 53307218326 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kaxue 13 HIKE JAHHBIX ACTIEKTOB CYHTAIOTCA NPABHIIBHBIMHU /1714 PYCCKOTO A3bIKa?
A.  Pycckuil a3bIK ABIAETCA (NEKTHBHBIM A3BIKOM.

B.  VnapeHue BhINOMHAET CMBICIOPA3MHUHTENLHYIO () VHKIHIO B PYCCKOM A3bIKE.
C.  Tlopsmok croB He ABIAETCA THOKHM B PYCCKOM A3BIKE.

D.  CrnokHble MPENOKEHHA HE CBOMCTBEHHBI PYCCKOMY A3bIKY.

Choose the correct answer from the options given below:

I. Aand Bonly

2. Aand Donly

3. BandConly

4. Cand D only

Options:
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 53307218327 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[ J1aBHbIE TMpH3HAKH CTOBOCOUCTAHHA H MPE]IOKCHHA.

A.  Ilpennokenue BhIPAKAET 3aKOHUEHHBII CMBICI.

B.  CroBocoueTaHue — 370 HOMHHATHBHA €HHHUIA

C.  IIpennoseHe — 3T0 KOMMYHHKATHBHAS €HHHLA

D.  CrnoBocoueTaHue COCTOHT KaK MHHHMYM U3 JIBYX CJIOB, A [IPENOAKEHUE MOKET
COCTOATBCA H3 OJJHOTO CII0BA,

Choose the correct answer from the options given below:

I A, B, Cand D only

2. A,Band D only

3

. BandConly
4. Cand D only
Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 53307218327 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[ naBHbIe MPH3HAKH CTOBOCOUECTAHHA H MPE/ITOKEHIA:

A.  Ilpennoxenue BhIPaKaeT 3aKOHUEHHBIT CMBICI.

B CIOBOCOUETAHHE — 3TO HOMHHATHBHAL ¢IHHHLA

C.  Ilpepnoxenue — 570 KOMMYHHKATHBHAS EHHULIA

D CNoBOCOUETAHHE COCTOHT KaK MHHUMYM H3 IBYX CJIOB, A MPEATOKEHHE MOKET

COCTOATHCA M3 OJJHOT'O CTI0BA.

Choose the correct answer from the options given below:

I A, B, CandD only

2. A,BandDonly

3

. BandConly
4. CandD only
Options:
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 53307218328 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

COOTHECHTE HA3BAHAA CTENVIOIIHX AKYPHANOB/CTATE! € IOXOAMIHME
HANDABIIEHHAMIL TEUEHHAMH:

ligt | List Il

A. T'OCTHHHLA N9 NYTEMECTBYIOMIUX B [ Axmemsum
MPEKPACHOM
B. ITomEunsa o0MECTBEHHOMY BKYCY Il Cumsommsm
C. HexoTopslie TeUEHIA B COBPEMEHHOM
pycCcKoi mo33u . Qyrypmm
D. O npHumHax YIAJK H 0 HOBBIX
TEUEHHAX COBPEMEHHOH PYCCKOM [V.  VMaxunism

JHTEPATYPSI

Choose the correct answer from the options given below:

A-l, B-IL, C-1V, D-IlI
A-1, B-IIL, C-1V, D-II
A-1V, B-L, C-IIL, D-1I
A-1V, B-IIL C-I, D-I1

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 53307218328 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

COOTHECHTE HA3BAHAA CTENVIOIIHX AKYPHANOB/CTATE! € IOXOAMIHME
HANDABIIEHHAMIL TEUEHHAMH:

ligt | List Il

A. T'OCTHHHLA N9 NYTEMECTBYIOMIUX B [ Axmemsum
MPEKPACHOM
B. ITomEunsa o0MECTBEHHOMY BKYCY Il Cumsommsm
C. HexoTopslie TeUEHIA B COBPEMEHHOM
pycCcKoi mo33u . Qyrypmm
D. O npHumHax YIAJK H 0 HOBBIX
TEUEHHAX COBPEMEHHOH PYCCKOM [V.  VMaxunism

JHTEPATYPSI

Choose the correct answer from the options given below:

A-l, B-IL, C-1V, D-IlI
A-1, B-IIL, C-1V, D-II
A-1V, B-L, C-IIL, D-1I
A-1V, B-IIL C-I, D-I1

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 53307218329 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

CoOTHECHTE HMEHa CTEYIOIIX MHCATENEH/TI03TOR ¢ MOXONAMIMH

HAIPAB IEHHAMI TEUE HHAMEL
List | List II
A. bopuc [TacTepHax I Jhurepatypa pycckoro 3apyoexba
B. MapunaI{peraesa TIEPBOI BOMBHEI
C. Cepreit [oniatos Il [lepenexckad mposa
D. Buxrop Actagben . Dyrypusm
IV.  Jlutepatypa pycckoro 3apyGess
TPETHEI BOMLHEI

Choose the correct answer from the options given below:
1 AL BNl CIV, DA

2. AV, Bl G, DA
3. A, BV, C-II, Dl
4. A, B, CIV, D-lI
Options :

1.1

2.2

3.3

4.4

Question Number : 128 Question Id : 53307218329 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

CoOTHECHTE HMEHa CTEYIOIIX MHCATENEH/TI03TOR ¢ MOXONAMIMH

HAIPAB IEHHAMI TEUE HHAMEL
List | List II
A. bopuc [TacTepHax I Jhurepatypa pycckoro 3apyoexba
B. MapunaI{peraesa TIEPBOI BOMBHEI
C. Cepreit [oniatos Il [lepenexckad mposa
D. Buxrop Actagben . Dyrypusm
IV.  Jlutepatypa pycckoro 3apyGess
TPETHEI BOMLHEI

Choose the correct answer from the options given below:
1 AL BNl CIV, DA

2. AV, Bl G, DA
3. A, BV, C-II, Dl
4. A, B, CIV, D-lI
Options :

1.1

2.2

3.3

4.4

Question Number : 129 Question Id : 53307218330 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

COOTHECHTE dBTOPOB H HX I'CPOCB.

List | List Il
A. Maxcim [ oppkui [ MgauIlTyxos
B. Cepreit Illaprysos [ Hacréna
C. Banenri PacnyTin Il ITasen Ypaxues
D. Anekcanzp ComKeHHLbH IV.  Angpeit Haxoxa

Choose the correct answer from the options given below:

i All, B4, C-IV, D-lI
4 AV, B-I, C-II, D-1II
3. A-V, B-lll, C-Il, Dl
4, A, B-IV, C-Iil, DIl

Options :

1.1

2.2

3.3

4.4

Question Number : 129 Question Id : 53307218330 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List | with List Il

COOTHECHTE dBTOPOB H HX I'CPOCE.

List | List Il
A. Maxcum I oppkiit [ MgauITyxor
B. Cepreit Ilapryxos [ HacréHa
C. Bamenrun PacmyTn Il Ilasen Ypaxues
D. Anexcaunp ComKeHULBH IV.  Amnmpeit Haxogxa

Choose the correct answer from the options given below:

A-II, B, C-V, DIl
A-V, B-, C-ll, D-1II
A-V, B-llI, C-II, D-l
A, B-1V, C-liT, DIl



Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 53307218331 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List | with List Il

YCTaHOBHTE COOTBETCTBHE MCKIY HCTOPHUECKHMH THYHOCTAMH H HX ACATCIIEHOCTRIO.

List | List Il
A. Hnpq Pemin . KoMmo3HTOp
B. II. HaiikoBckHuil II.  XYIOXKHHK
C. A Huxurud [lI.  KpurHK
D. B. benunckuit IV.  myTemecTBEHHUK

Choose the correct answer from the options given below:

1 A-ll, B-I, G-IV, DIl
2, A-l, B-Il, G-IV, DIl
3. A-ll, B-Ill, C-IV, D-I
4 A-IV, B-1, C-Il, D-1II

Options :

1.1

2.2

3.3

4.4

Question Number : 130 Question Id : 53307218331 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

YCTAHOBHTE COOTBETCTRHE MEAIY HCTOPHUECKHMH THYHOCTAMH H HX TEATENLHOCTRIO.

List | List Il
A. Unbs Pemin . Kommo3utop
B. II. Yaiikorckuil I XymoxHHK
C. A Huxurud [lI.  KpuTHK
D. B. benunckuit IV.  OyTemecTBEHHUK

Choose the correct answer from the options given below:

1 A-ll, B, C-Iv, D-1Il
2, A-l, B-Il, G-IV, DIl
3, A-ll, B-lll, C-IV, Dl
4 A-IV, B-1, C-Il, D-1Il

Options :

1.1

2.2

3.3

4.4

Question Number : 131 Question Id : 53307218332 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List II

CoO0THECHTE MPOU3BCTICHIA C HX aBTOPaMHu.

List | List Il
A. «KaBKa3CKHI TUIEHHBITY . JI Tonctoi
B. «Xamxu Mypar» . A Ilymxuy
C. «KamuTaHckad JouKay . JL Yiunkad
D. «Mermeq u eé geTuy IV. B.Makauuy

Choose the correct answer from the options given below;

1 A-l, B-1V, C-Il, D-Il
& A-ll, B-IV, ClI, DAl
3. A-Ill, B, C-ll, D-IV
4 A-1V, B-1, C-Il, D-MI

Options :

1.1

2.2

3.3

4.4

Question Number : 131 Question Id : 53307218332 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List II

CoO0THECHTE MPOU3BCTICHIA C HX aBTOPaMHu.

List | List Il
A. «KaBKa3CKHI TUIEHHBITY . JI Tonctoi
B. «Xamxu Mypar» . A Ilymxuy
C. «KamuTaHckad JouKay . JL Yiunkad
D. «Mermeq u eé geTuy IV. B.Makauuy

Choose the correct answer from the options given below;

1 A-l, B-1V, C-Il, D-Il
& A-ll, B-IV, ClI, DAl
3. A-Ill, B, C-ll, D-IV
4 A-1V, B-1, C-Il, D-MI

Options :

1.1

2.2

3.3

4.4

Question Number : 132 Question Id : 53307218333 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

COOTHECHTE MOAXO/ALIHE BapHAHTBIL

List | List 11
A. 830 . yeTBepTh JIEBATOIO
B. 815 II.  0e3aBajLAaTH IEBATh
C. 845 [Il.  MoJOBHHA JEBATOTO
D. 8.40 IV.  0e3ueTBEpTH JIERATD

Choose the correct answer from the options given below:

1 A, B-Il, C-IV, D-llI
2 A-ll, B-ll, G-IV, D-I
3, A-ll, B, C-IV, D-II
4 A-IV, B-Il, C-II, D-I

Options :

1.1

2.2

3.3

4.4

Question Number : 132 Question Id : 53307218333 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

COOTHECHTE MOAXO/ALIHE BapHAHTBIL

List | List 11
A. 830 . yeTBepTh JIEBATOIO
B. 815 II.  0e3aBajLAaTH IEBATh
C. 845 [Il.  MoJOBHHA JEBATOTO
D. 8.40 IV.  0e3ueTBEpTH JIERATD

Choose the correct answer from the options given below:

1 A, B-Il, C-IV, D-llI
2 A-ll, B-ll, G-IV, D-I
3, A-ll, B, C-IV, D-II
4 A-IV, B-Il, C-II, D-I

Options :

1.1

2.2

3.3

4.4

Question Number : 133 Question Id : 53307218334 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

Br16epHTE M0IXOMAMHE CHHOHHMBI K JAHHBIM CTOBAM.

List | List Il
A. ymep6 . OKKkymauus
B. Hamanatkh Il.  cHTyauus
C. 3axpar llI. motepa
D. obcTaHoBKa [V. aTaxKomath

Choose the correct answer from the options given below:

l. A-L B-lII, C-1V, D-II
2. A-L B-1V,C-I1, D-1
3. A-ILB-IIL C-1V, D-I
4. AL B-1V, C-[, D-1I

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 53307218334 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

Br16epHTE M0IXOMAMHE CHHOHHMBI K JAHHBIM CTOBAM.

List | List Il
A. ymep6 . OKKkymauus
B. Hamanatkh Il.  cHTyauus
C. 3axpar llI. motepa
D. obcTaHoBKa [V. aTaxKomath

Choose the correct answer from the options given below:

l. A-L B-lII, C-1V, D-II
2. A-L B-1V,C-I1, D-1
3. A-ILB-IIL C-1V, D-I
4. AL B-1V, C-[, D-1I

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 53307218335 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

COOTHECUTE pycckue a00pEBHATYPHI € HX AHTITHICKHMH KB HBATEHTAMH:

List | List I
A. VBII . RAM
B. OMY II. CIA
C. IpY . UPS
D. 03V IV. WMD

Choose the correct answer from the options given below:

l. AL B-IV, C-1I, D-1II
2. AL B-IL C-1V, D-1
3. AL B-L, C-II, D-IV
4. Al B-1V, C-II, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 53307218335 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

COOTHECUTE pycckue a00pEBHATYPHI € HX AHTITHICKHMH KB HBATEHTAMH:

List | List I
A. VBII . RAM
B. OMY II. CIA
C. IpY . UPS
D. 03V IV. WMD

Choose the correct answer from the options given below:

l. AL B-IV, C-1I, D-1II
2. AL B-IL C-1V, D-1
3. AL B-L, C-II, D-IV
4. Al B-1V, C-II, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 53307218336 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

COOTHECHTE COOTBETCTRYIOLIHE PACIIHpPOBKH ¢ A06PEBUATYPAMH Ha AHTTHICKOM
A3BIKE;

List | List Il
A. WTO . Banopoil BHYTPEHHUH NPOIYKT
B. GDP I[I.  MexnyHapoHbIi BATIOTHBIH
C. VAT (o
D. IMF IlI. BcemupHad Topropad
OpraHH3aLHs
V. Haror Ha j06aB/IeHHYI0
CTOHMOCTD

Choose the correct answer from the options given below:

l. A-L B-1V, C-lII, D-II
2. AL B-L, C-1V, D-II
3. AL B-IL C-1V, D-1
4. A-L,B-1I, C-II, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 53307218336 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

COOTHECHTE COOTBETCTRYIOLIHE PACIIHpPOBKH ¢ A06PEBUATYPAMH Ha AHTTHICKOM
A3BIKE;

List | List Il
A. WTO . Banopoil BHYTPEHHUH NPOIYKT
B. GDP I[I.  MexnyHapoHbIi BATIOTHBIH
C. VAT (o
D. IMF IlI. BcemupHad Topropad
OpraHH3aLHs
V. Haror Ha j06aB/IeHHYI0
CTOHMOCTD

Choose the correct answer from the options given below:

l. A-L B-1V, C-lII, D-II
2. AL B-L, C-1V, D-II
3. AL B-IL C-1V, D-1
4. A-L,B-1I, C-II, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 53307218337 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

BLIGC})HT\E NOMXOAIHE aHTOHHMBI K JTaHHBIM CJIOBAM:

List | List Il
A. mepbIl | ) (1)
B. noGpsut [l TpycnmBsi
C. OeccTparHbli Il  mxuBbId
D. uecTHbIH IV.  KamHbli

Choose the correct answer from the options given below:

A-1V, B-L, C-I1, D-I1I

L.
2. A-LB-IV,C-IL, D-ll
3. AV, B[, C-III, D-II
4. A-L B-IIL, C-IL D-IV
Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 53307218337 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

BLIGC})HT\E NOMXOAIHE aHTOHHMBI K JTaHHBIM CJIOBAM:

List | List Il
A. mepbIl | ) (1)
B. noGpsut [l TpycnmBsi
C. OeccTparHbli Il  mxuBbId
D. uecTHbIH IV.  KamHbli

Choose the correct answer from the options given below:

A-1V, B-L, C-I1, D-I1I

L.
2. A-LB-IV,C-IL, D-ll
3. AV, B[, C-III, D-II
4. A-L B-IIL, C-IL D-IV
Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 53307218338 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

OTMETHTE COOTBETCTBYIOMIHE PaCIIH(PPOBKH:

List | List Il
A. TBIC. [.  MHIIHAPQ
B. MIH. [I. TeICAYA
C. TpuH. [lI. MHIHOH
D. mnpn. [V. TpWIIHOH

Choose the correct answer from the options given below:

. A-IV, B-1, C-III, D-11
2. A-I B-1II, C-1V, D-1
3. A-L B-II, C-1V, D-II
4. A-lI, B-1, C-1V, D-II

Options :

1.1

2.2

3.3

4.4

Question Number : 137 Question Id : 53307218338 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

OTMETHTE COOTBETCTBYIOMIHE PaCIIH(PPOBKH:

List | List Il
A. TBIC. [.  MHIIHAPQ
B. MIH. [I. TeICAYA
C. TpuH. [lI. MHIHOH
D. mnpn. [V. TpWIIHOH

Choose the correct answer from the options given below:

. A-IV, B-1, C-III, D-11
2. A-I B-1II, C-1V, D-1
3. A-L B-II, C-1V, D-II
4. A-lI, B-1, C-1V, D-II

Options :

1.1

2.2

3.3

4.4

Question Number : 138 Question Id : 53307218339 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

COOTHECHTE Iapbl CHHOHHMOB !

List | List 1l
A. TpennpHHHMATEND [.  3aTparthl
B. oOroHAThH [I. Ou3HECMEH
C. pacxopsl III. mapTHEP
D. COH3HHK IV. omnepexars

Choose the correct answer from the options given below:

A-IIL, B-1V, C-II, D-1
A-IV, B-111, C-I, D-11

o

3.  A-l, B-1V,C-1, D-III
4.  A-l, B-1I, C-1V, D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 53307218339 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

COOTHECHTE Iapbl CHHOHHMOB !

List | List 1l
A. TpennpHHHMATEND [.  3aTparthl
B. oOroHAThH [I. Ou3HECMEH
C. pacxopsl III. mapTHEP
D. COH3HHK IV. omnepexars

Choose the correct answer from the options given below:

A-IIL, B-1V, C-II, D-1
A-IV, B-111, C-I, D-11

o

3.  A-l, B-1V,C-1, D-III
4.  A-l, B-1I, C-1V, D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 53307218340 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

COOTHECHTE CIEAYIOIHE THCIHITTHHLI C HX MPEIMETaAMH.

List I List II

A. Mop(ornorus u3ydaer . cTpoeHH ClOBOCOUETAHHI H

B. CHHTaKcHC H3ydaer MPETTIOKEHHIT

C. QOHETHKA H3Y4aeT [I.  rpammaTHUecKHe CBOICTBA CTOB
D. Jlekcukomnorus u3yyaer [Il.  3HayeHHE CTIO0B

IV.  ITacHbIE H COTNIACHBIE 3BYKH

Choose the correct answer from the options given below:

A-IL, B-1, C-1V, D-1II

I
2. A-L, B-II, C-II, D-IV
3. A-IV, B-II, C-III, D-I
4. AL B-1V, C-I, D-11
Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 53307218340 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

COOTHECHTE CIEAYIOIHE THCIHITTHHLI C HX MPEIMETaAMH.

List I List II

A. Mop(ornorus u3ydaer . cTpoeHH ClOBOCOUETAHHI H

B. CHHTaKcHC H3ydaer MPETTIOKEHHIT

C. QOHETHKA H3Y4aeT [I.  rpammaTHUecKHe CBOICTBA CTOB
D. Jlekcukomnorus u3yyaer [Il.  3HayeHHE CTIO0B

IV.  ITacHbIE H COTNIACHBIE 3BYKH

Choose the correct answer from the options given below:

A-IL, B-1, C-1V, D-1II

I
2. A-L, B-II, C-II, D-IV
3. A-IV, B-II, C-III, D-I
4. AL B-1V, C-I, D-11
Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 53307218341 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

COOTHECHTE HHAE JJAHHBIE TNIAr0JIbI IO dHTOHHMHYCECKOMY 3HAYCHHIO.

List List I

A. 0TbexaTh . VHecTH
B. MpHHECTH . Tofgbexath
C. BOexath . oTOMTH
D. mojoiTH IV.  BbIOEXKATH

Choose the correct answer from the options given below:

A-11, B-1, C-1II, D-IV

L.
2. A-LB-II, C-IIl, D-IV
3. AL B-I, C-1V, D-III
4. A-II, B-1II, C-1V, D-1
Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 53307218341 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

COOTHECHTE HHAE JJAHHBIE TNIAr0JIbI IO dHTOHHMHYCECKOMY 3HAYCHHIO.

List List I

A. 0TbexaTh . VHecTH
B. MpHHECTH . Tofgbexath
C. BOEKaTh . oTOMTH
D. mojoiTH IV.  BbIOEXKATH

Choose the correct answer from the options given below:

A-11, B-1, C-1II, D-IV

L.
2. A-L B-II, C-Ill, D-IV
3. A-l, B-L, C-1V, D-II
4. A-Il B-III, C-1V, D-1
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 533072717
Question Shuffling Allowed : No

Question Id : 53307218342 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



uTaliTe CefyIoMmuii TEKCT U 0TBETLTE HA BOMPOCHL:

Marpémka
Marpémka — 370 H3BECTHbI pycckuil cyBeHup. OfHako, MOABHIACH MATPELKA B
SlmoHuH, Ha ocTpoBe X0HCH. SMOHIBI TOBOPAT, UTO OFHH PYCCKUIT MOHAX CENan 3Ty
HIPYIIKY. B Heif OO €IE HECKOMBKO HIPYILEK pasHBIX PA3MEPOB.
[ToTom, Henanexo ot Mockgbl, Gbiia CO37jaHA PYCCKHM XYAOKHHKOM IEpRasd PyccKas
matpémka. Ilouemy Mmarpémka Taxk HasbiBaercd? I[loToMy 4TO paHblle HMA
«Matpénan, «Matpémkay OblT0 MOMYIAPHBIM KeHCKHM HMeHeM B Poccun. «Maten
HA JIATHHCKOM S3bIKE 3HAUMNO (MaThy. MatpEimka — 370 Math. Y He€ MHOTO «IETEiD.
Y EpBOH PYCCKOMN MATPEIIKH OBLIO CeMb «eTeiD. MaTpemmka — 370 CHMBOM MaTepH
1 GOMBINOH CEMBH.
Marpémka noHpapunace oM. OHa CTala MOMYMAPHBIM PYCCKHM CYBEHHPOM.
Ceimac MOAHO BHIETh pasHble MATPEMKH. ECT MATPEMKA — MYKUHHA, MATPEIIKA —
pycckuil naps, Matpémmka — [opOaucs, Matpémka — [Tytus. Ha kampmoi Marpérmke
MOKET OBITh pasHoe H300pakeHHe. MaTpéiika — 970 H KHBOIHCh, H CKYIBOTYPA. 3T0
00pa3  yia Poccru. TYpHCTHI YACTO TOKYMAT MATPENIKH Kak CyBEHHD. MokHO
KYTIHTb My3bIKaTbHYI0 MATPEIKy. OHa MOET PyCcCKUE HAPOZHBIE MECHH.

Sub questions

Question Number : 141 Question Id : 53307218343 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

CKOJBKO «IeTe» OBUTO Y MEPBOH PYCCKOH MaTPEITIKH?

l. naTth
2. IIECThb
3. CEMB
4. BOCEMbB
Options :
1.1

2.2

3.3

4.4

Question Number : 142 Question Id : 53307218344 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



KT0 cenan MaTpEmKy Mo AMOHIam?
. pycckuil nucarenb

2. pyccKHH MOHAaX

3. AMNOHCKHH IMHCATENb

4. ANOHCKHH MOHAX

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 53307218345 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HUT0 CHMBOJH3HPYET MATPEIIKA?

. OOJBINYIO CTPaHY
2. OOJBIIYIO KHHTY
3. O0OJBUIYIO CEMBIO
4. OOJBIIYIO JOCKY

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 53307218346 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kakue MecHH 10 TEKCTY MOET My3bIKaIbHad MATPEIIKa?
|. pycCKHE COBPEMEHHBIE IECHH

2. pYCCKHE BecENble TIECHH

3. PYCCKHE TPYCTHBIE TIECHH

4. pyCcCKHE HAPOIHbBIE IECHH

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 53307218347 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Kakue MATPEIIKH 10 TEKCTY CYILECTBYIOT CETOHA?
MaTtpé€mku, H3oopaxaemele Haps, I'opbauepa, ITyTHHa
MaTtpé€mku, uzobpazxaemele napsa, [1yinkuba, ITyTHHa
MaTpémkH, u3obpaxaeMble MaTepu, Aouky, [TymkuHa
MaTtp€mku, H3oopaskaeMele MaTepH, ['opOaucpa, IIymkuHa

o

v b

Options :
1.1
2.2
3.3
4.4

Question Id : 53307218342 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

uraiite CeqyIOMWuil TEKCT H 0TBETHTE HA BOMPOCEL

Marpémika
Marpémka — 370 H3BECTHBI pycckiii cyBeHup. OfHako, MOABHIACH MATpELIKA B
JINoHHH, Ha 0CTPOBE XOHCI0. STOHIIBI TOBOPAT, UTO OJUH PYCCKHI MOHAX CJIENan 3Ty
HIPYLIKY. B Heil OLI0 €€ HECKOMBKO HIPYILEK PasHBIX PA3MEPOB.
[Totom, Henanexko ot MockBbl, Gbiia CO37jaHA PYCCKHM XYOKHHKOM TEPRasd PyCCKas
matpémka. [louemy Matpéimka TaKk HasbiBaeTcd? IIoTOMy 4TO paHbIle HMA
«Matpénay, «Matpérmka» ObU10 MOMYIAPHEIM AKeHCKUM HMeHeM B Poccuu. «Matem
HA JIATHHCKOM f3bIKE 3HAUMNO (MaThy. MatpEImka — 370 Math. Y He€ MHOTO (ETeiDy.
Y EpBOMH PYCCKON MaTPEMIKH ObLIO CeMb «eTeiD. MaTpémmKa — 370 CHMBOM MaTepH
U GOMBINOH CEMBH.
Marpéiuka noHpapunack JMAAM. OHa CTa1a MOMYMAPHBIM PYCCKHM CYBEHHPOM.
Ceiac MOAHO BUTIETh pasHble MATPEMKH. ECTh MATPEMKA — MyKUHHA, MATPEIIKA —
pycckuil naps, Matpémmka — [opOaucs, Matpémka — [TytuH. Ha kaxpmoil Matpémke
MOKET OBITh pasHoe H300pakeHHe. MaTpémka — 370  KHBOIHCD, U CKYIBNTYPA. 310
o0pa3 u gyma Poccuy. TypHCTBI 4acTo MOKYIAIT MATPEMIKH Kak CyBeHHD. MokHo
KYIHTb My3bIKaTbHYI0 MATPEIKY. OHa MOET PYCCKUE HAPOZIHBIE MECHH.

Sub questions

Question Number : 141 Question Id : 53307218343 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



CKOIBKO <«ieTei» ObUIO Yy MEPBOH PYCCKOH MAaTPEIIKH?

l. naT1h
2. IIECThb
3. CEMb
4. BOCEMB
Options :
1.1

2.2

3.3

4.4

Question Number : 142 Question Id : 53307218344 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

KTo caenan MaTpEmIKy o AnoxHuam?

. pycckuii mUcaTenb

2. PVCCKHH MOHaxX

3. ANOHCKHI IMHCATENDb

4. ANOHCKHH MOHAX

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 53307218345 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HTO CHMBOIH3HPYET MATPELLKA?

. OoJbHIYIO CTPaHY
2. OOJBLIVIO KHHTY

3. OOJIBIIYIO CEMBIO
4. 0OJBINYIO JOCKY

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 53307218346 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Kaxue mecHH 1o TEKCTY MOET My3bIKadbHasd MATPEIKA?
. pyccKHe COBpEMEHHbIE MECHH

2. pYCCKHE BecENble MECHH

3. pycCKHE TPYCTHBIE TIECHH

4. pyccKHe HapOIHbIE IIECHH

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 53307218347 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kaxue MaTpEMIKH 110 TEKCTY CYILECTBYIOT CErO/{HA?

. Matpémku, uzodbpaxaemeie Laps, I opdaucsa, [IyTiHa

2.  Matpé€mku, nzo0paxaemele 1apd, [Iyinkuna, [TytuHa

3. Matpémku, nzobpaxaeMble MaTePH, JOUKH, ITyIIIKHHA

4. Matpémku, n3obpaxaemele MaTepu, I opbaucea, IIyimkiHa

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3

Sub-Section Id : 533072718
Question Shuffling Allowed : No

Question Id : 53307218348 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension



uTaliTe CefyIoMmuii TEKCT U 0TBETLTE HA BOMPOCHL:

Teatp
[Tocne o0efa Mama JocTana U3 WKATYIKH CEphlE TeATpaibHble OHIETHI C PUCYHKOM
YailKi i IPOTAHYNA MHE: - 370 TeOe. 310 ObLTH OHIETHI B XYIOKECTBEHHBIN TEATP HA
«Kupoit Tpym» 1 «TpH cecTph.
Okasanock, 4To MaMa, 4To0bl 10CTATh 3TH OUMETDL, CTOANA B OUEPETH K TEATPATbHOI
KACCE BCIO XOIOJHYI0 3UMHIOK HOUb. S CTpamiHo o6pajjoBance U MOLENoBAT Mamy, a
OHA, YIbi0aAch, CKasama, 4To eil ObUIO MHTEPECHO CTOATh BCK HOUb B TOMIE
CTYJIEHTOB H UTO Y€ JABHO OHA TaK BECENO HE MPOBOAHNA BPEMS. «TPU CECTPBD) LILITH
B JIeHb Moero npue3ga. Totyac nocie 00eja Mbl ¢ JUMOI Hauamu coOHpaThes B TEATp.
M1 noexanu o TeaTpainbHoil II0MA/H B X0T0HOM TPAMBAE.
TeatpanbHas wiomays ObL1a HamoIHeHa OMECTKAMH cHera. OHH BUHCETH B BO3AYXE U
ObUTH XOPOLIO BHIHBI 0K0I0 (hoHapeil. Ml mpomny yepe3 TeaTpanbHylo IWIOMags B
Kameprepckitit mepeynok H BOIIMH B HeR3pauHblid cHapyxu tearp. [lomsl Obimu
JATAHYTBl CEPBIM CYKHOM. 3pUTENH [BUramich OecymHo. YyTh Konbixancd
KOPHUHEBbIA 3aHABEC C Yaiikoi. Beé ObLTO CTPOro i BMECTE C TEM MPA3THHUHO.
Msue G110 GombHO 32 JHOZEH, MyUHBIIHXCA B UeXOBCKOH mbece. Ho BMecTe ¢ TEM
MEHA HE OCTABIANIO OL[YIIEHHE CBEKECTH U MPATHHYHOCTH. STA IPA3HIUHOCTE H
(BEAKECTh INNMH OT HCKYCCTBA. BeE HEMPUINANHOE M HERECENOE MOKA3ANOCH MHE
BPEMEHHBIM H He OueHb cephEsHbM. [IycTh OYayT OemHOCTh, OOHABL HEYHAUH, HO
HHKTO HE CMOKET MOrACHTh TOT CBET, KOTOPDIHA NPUILEN cefuac H3 TAHHCTBEHHOII
CTPaHbI HCKYCCTBA.

Sub questions

Question Number : 146 Question Id : 53307218349 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3 uero gocrana cepbie TearpaibHbie OHIETH MaMa?

. H3CYyMKH
2. U3 AIHKa

3. M3 IIKaTyIKH
4. W3 KHHTH

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 53307218350 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

C KeM CcTofAIa MaMa B OHEPEIH K TEH'I])EIJILHDI:I KacCe BCH0 XOJ0AHYIO 3HMHIOK HOUB?

l.  capy3paMH
C pOJICTBEHHHKAMH

CO CTYIIEHTAMH
C KoJIlIeramu

= Lo po

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 53307218351 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
OKO0J10 yero ObLTH XOPOILO BHIHEI OJIECTKH cHera?
OKOJIO cBeTO(opa
oKoJIo (poHapeii

B! )

3. OoKoJo (poHTaHOR
4. OKOJIO IBETOB
Options :

1.1

2.2

3.3

4.4

Question Number : 149 Question Id : 53307218352 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kakyto nmbecy cMOTPENH I'epoi pacckasa U ero Apyr Juma?
Bumuepwii caj

l.
2. Ha nue

3. Tpu cectpsl
4. Maupgar
Options :

1.1

2.2

3.3

4.4



Question Number : 150 Question Id : 53307218353 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y10 06110 H300PAKEHO B TEATPATHHBIX OHIIETAX H HA 3aHABECE X YI0KECTBEHHOTO
Tearpa’?

|. damxka
2. Yailka
nebenb
3MES

= ka3

Options :
1.1
2.2
3.3
4.4

Question Id : 53307218348 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension



uTaliTe CefyIoMmuii TEKCT U 0TBETLTE HA BOMPOCHL:

Teatp
[Tocne o0efa Mama JocTana U3 WKATYIKH CEphlE TeATpaibHble OHIETHI C PUCYHKOM
YailKi i IPOTAHYNA MHE: - 370 TeOe. 310 ObLTH OHIETHI B XYIOKECTBEHHBIN TEATP HA
«Kupoit Tpym» 1 «TpH cecTph.
Okasanock, 4To MaMa, 4To0bl 10CTATh 3TH OUMETDL, CTOANA B OUEPETH K TEATPATbHOI
KACCE BCIO XOIOJHYI0 3UMHIOK HOUb. S CTpamiHo o6pajjoBance U MOLENoBAT Mamy, a
OHA, YIbi0aAch, CKasama, 4To eil ObUIO MHTEPECHO CTOATh BCK HOUb B TOMIE
CTYJIEHTOB H UTO Y€ JABHO OHA TaK BECENO HE MPOBOAHNA BPEMS. «TPU CECTPBD) LILITH
B JIeHb Moero npue3ga. Totyac nocie 00eja Mbl ¢ JUMOI Hauamu coOHpaThes B TEATp.
M1 noexanu o TeaTpainbHoil II0MA/H B X0T0HOM TPAMBAE.
TeatpanbHas wiomays ObL1a HamoIHeHa OMECTKAMH cHera. OHH BUHCETH B BO3AYXE U
ObUTH XOPOLIO BHIHBI 0K0I0 (hoHapeil. Ml mpomny yepe3 TeaTpanbHylo IWIOMags B
Kameprepckitit mepeynok H BOIIMH B HeR3pauHblid cHapyxu tearp. [lomsl Obimu
JATAHYTBl CEPBIM CYKHOM. 3pUTENH [BUramich OecymHo. YyTh Konbixancd
KOPHUHEBbIA 3aHABEC C Yaiikoi. Beé ObLTO CTPOro i BMECTE C TEM MPA3THHUHO.
Msue G110 GombHO 32 JHOZEH, MyUHBIIHXCA B UeXOBCKOH mbece. Ho BMecTe ¢ TEM
MEHA HE OCTABIANIO OL[YIIEHHE CBEKECTH U MPATHHYHOCTH. STA IPA3HIUHOCTE H
(BEAKECTh INNMH OT HCKYCCTBA. BeE HEMPUINANHOE M HERECENOE MOKA3ANOCH MHE
BPEMEHHBIM H He OueHb cephEsHbM. [IycTh OYayT OemHOCTh, OOHABL HEYHAUH, HO
HHKTO HE CMOKET MOrACHTh TOT CBET, KOTOPDIHA NPUILEN cefuac H3 TAHHCTBEHHOII
CTPaHbI HCKYCCTBA.

Sub questions

Question Number : 146 Question Id : 53307218349 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3 uero gocrana cepbie TearpaibHbie OHIETH MaMa?

. H3CYyMKH
2. U3 AIHKa

3. M3 IIKaTyIKH
4. W3 KHHTH

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 53307218350 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

C KeM CcTofAIa MaMa B OHEPEIH K TEH'I])EIJILHDI:I KacCe BCH0 XOJ0AHYIO 3HMHIOK HOUB?

l.  capy3paMH
C pOJICTBEHHHKAMH

CO CTYIIEHTAMH
C KoJIlIeramu

= Lo po

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 53307218351 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
OKO0J10 yero ObLTH XOPOILO BHIHEI OJIECTKH cHera?
OKOJIO cBeTO(opa
oKoJIo (poHapeii

B! )

3. OoKoJo (poHTaHOR
4. OKOJIO IBETOB
Options :

1.1

2.2

3.3

4.4

Question Number : 149 Question Id : 53307218352 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kakyto nmbecy cMOTPENH I'epoi pacckasa U ero Apyr Juma?
Bumuepwii caj

l.
2. Ha nue

3. Tpu cectpsl
4. Maupgar
Options :

1.1

2.2

3.3

4.4



Question Number : 150 Question Id : 53307218353 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Y10 06110 H300PAKEHO B TEATPATHHBIX OHIIETAX H HA 3aHABECE X YI0KECTBEHHOTO
Tearpa’?
|. damxka
2. Yailka
3. nebenb
4. 3Med
Options :
1.1
2.2
3.3
4.4





